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MATHEMATICS CONCEPTS TEST

Basic Test: Level One
(Grade One)

ANSWER KEY AND TEACHERS' GUIDE

Please rcad every item to the children. The entire class
should work on each item simultaneously. Note special comments
on certain items. Comments and answers are written in long

% hand. You should have both the students copy and Teachers' Guide
b before you as you give the test.
: Timed Tests: These should not be given with the other part.

-3 Timing is extremely important, if we are to test the objecctive

3 qs sftated in the curriculum guide. Place paper face down on

: student’s desk. At the signal have students turn the papers

‘ over and begin working. Be sure to call "stop'" in exactly 3 min.
or 2 min., as thec case may be.

, Excluding the timed tests, this is a 105 problem test. Since

: some items have more than one part, the written numerals in ()
are to help you in scoring. This should probably be given in two
different sessions. You may break it according to your judgement.
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A CROSS REFERENCE OF OBJECTIVES FROM THE CLARK COUNTY TURK.CLLUN
GUIDE AND ITEMS IN THE MATHEMATICS COVERAGE TESC

CODLE: "N mecans number strand; "Nu' means numeration strand; ;
"O" means operations strand;  "G" mecans geometry strand;
1 b &v ]

and, '"M" mcans measurement strand.

An example: M-4 mcansobjective #4 in the measurement strand.

OBJECTIVE # ITEM # OBJECTIVE # ITEM # 5
N-1 1 G-1 86-89 '
N-2 2,3 G-2 90-91
N-3 T-G C-3 NC
N-5 7 G- 92-95 3
N-0 §-10
N-7 TT-1% 3
N-4 14-15 M-1 97 f
N-8 16-18 M-2 96
N-9 19-21 M=-3 08
N-T0 22,23 M-4 99-100

M-5 NC
M-6 102
Nu-1 24-27 M-7 104,105
Nu-2 28-30, 35-45 M-8 104,105
Nu-3 50-59
Nu-4 31-54
Nu-5 46-49
Nu- 6 19-21 Items 101 and 103 problem 3
solving. 5
8:; g?-bS NC mcans not covered.
0-3 64-06
0-4 67
0-5 Y G - facts (
0-6 08,069 - 3
0-7 TT70-75 ,
0-8 76
0-9 " 7 X
0-10 78
0-11 79-81
0-12 §7-85

R S L A S R I e ety ST N S P s R o o st i g



EXAMINER'S GUIDE

Plecase rcad cvery item to the children. llave students read silent-
ly while you rcuad aloud. The entire class should work on cach item
simultaneously. Note special comments on certain items. Comments are
written in long hand.

At the end arc 2 timed tests. These should not be given with the
other part. Timing is extremely important, if we are to test the ob-
jective as statced in the curriculum guide. Excluding the timed tests,
this is a 105 item test. The test should probably be given in at least
two different sessions. You may break it according to your judgement.
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MATHEMATICS CONCEPTS TEST

Basic Test: Level One

Part |

Name

Last First

Middle

TIORGOS _ul\r"‘ TR ALY pltd e
F;., m’! B m_A A

Teacher School ' Grade

Date

= PN - " Al L3V I Lo
\ .
Uaky NG S T AT O A Rkt 11
A“'—-‘ ’.mm
Y. A~ @

].

PN

” _
T BRI e SRR e D L iy
‘........_., ;— et v

LR G

Test Score —- Part |

DIRECTIONS TO STUDENTS

Write your name and other information on the top of this sheet.

Write your answers on the tesi booklet,




MATHEMATICS CONCEPTS TEST

Basic Test: Level Ona

1. Llook at this set of numerals. Draw a ring around
the object which is not a member of the set of numerals.

p )
{1, 2,3 4 M 5, 6} ”"fw':“, 7

dhhkkkdkhkkkrhrkhhkhkdkhkkdrhkdbtrnthdkdhhddddhxhk thrtdkthdhhhkhkkdhhhdhdhhdthhhd

NO

Circle the answer. YES

—

2. Are thesc sets equivalent?

2re
¢ :

Match by one-to-one correspondence tc check your

3.
answer to the question in number 2 above.
t T TTOLEELTLEEE TSR LESIETI LRSI E LTI ITEI ST ILISSEL SIS LSS S LRSI E L L LRSS LSRR

4. Putan "X on each of the two equivaient sets.

I
Gmou.’




6. Putan "X" on the set that has less or fewer members.

***-}*1\* *k** ki*ln‘ AR FRA A AT TR A KIS A S A A KL AR AR AEA XA A AR A AR KA AR AT AR AL R RARR

XN
—
o g o

7.  How many members are there in the set of elephants on the ceiling of
thiz -oom?

MAKE THREE SUBSETS FROM TIIE SET AT THE RIGHT:

* B S gl S G PRGN

8.

The set A O [
of O

S ‘ C_1 A O
9. o A O [

The set
f ’ e
of I\’ AN S
L, [T N 10
The set O [ A
o [ Vs | —
WRITE THE CARDINAL NUMBER FOI\ EACH SET; ,Qom;l WMJ j

=1 > ” Q Q < QO
[ O
o ’ Q9 CK)

AN
N
+H
5
Q § |
/ ;
. rug o - vs
3
h »
A
4

11.

@ e o e e -




14. 91435 these numcrals {rom greater than to less.than:
Y 5 /
25 74 9¢ 03§
) ’ i ) s ’ R ’ ’ 9
15. Order these numerals lecss thap to greater than:
YA )
, O 7 96 3 5 2,18
b4 ’ b4 ? ’ 9 . 9 ’
16. Order these numerals from greatcr than to less than:
/9 23 34-/7, 28 $3 //
J J / J . P
’ ’ y ___ ’ ’ ]
USE THE SYMBOL < OR > TO ORDER THESE PAIRS:
17. 57 53 /(MM‘ @9
TR U E: (X4 ! df" m +‘ '”
8. 4l 5 H
19. Circle the fraction below the box that shows the fractional
part of the box that is shaded.
L L A
L 2 )
20. Circle the fraction below the box that shows the fractional

part of the box that is shaded.

o me—— - o )

oL L
[ & p-»




21.

Circle the {raction below the box that shows the
fractional part of the box that is shaded.

P R AR R 2R R DRI R IEEF R TP EIET LTINS AL S E L R R 2L Rt & At tA N

24.

26.

28.

29.

O

30.

31,

33.

Put an "X" on the fifth man from the star.

Draw a ring around the ninth man from the star.

PUT "X" ON EACH NUMERAL BELOW THAT NAMES THE SAME NUMBER AS 5.

LL+§ s 2+ 3
{Z 27.'7“2 talf themn

M
COLOR [NOUGH C!RCLES TO MAKE A SET OF: 7“‘" 7 Jorioputs

S5lO00000 00 O OL.
3l OO OO0 OOOO P

Rl O OOOO0OO00O0

PUT AN "X" ON THE NUMERAL IN THE TENS' PLACE:

64 12T

DRAW A RING ARQUND THE NUMERAL IN THE ONES' PLACE:

34.

0% 156




MATCH (DRAW LINE SEGMEMTS)

5. Three e
w Live
7. OV E
8. fw O

5
|
3
o
. -FoUr 7
w. S| X 2
1. SevVen O
2. Tewn H
e\Sl VT s
. NiNne 10
5. 2 X0 9'

***ii*i*#**%**i***********i************************************

46, Write the expanded numeral for \ q gp"’u’ W

43.

(92

Example: l L{ = \ O "{" L}.

47. Wiite the expanded numeral for

*****a****k*z*k****i*i******i****ii***k**ix*k*******i***********

48. Write the numeral for:

2 tens and 4 ones

49. Write the numeral for:

5 tens and 6 oncs




GAAN A abviss !

: oy st
F’:!.’KMA

]

frsmraed

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

BESIDE EACH NUMERAL WRITE ITS NUMBER WORD

_Z

B
/
-
A
.
g
9

/0

LR R RS S P R T S R AP R A IUD RIS DD D I I T T S G RLTE T A S W CRA O UL O L G U S (Y5 QS S S U U §

60.

Draw sets of marbles for this equation:

5"/‘"3'2 g

e

St s b n st




61. Here is aset of 14 marbles. Draw "X's" on 8 of the marbles.

O00000Q0000O0OO00

62. How many marbles are lefi?

63. So we may say \ L\r — % = _

! **********************************************************************

:L 7
1 64. Hcre is a sct-of 6 A S . Draw enough to make a
total of 15 A ’s

| CAAAANN

65. How many triangles did you draw ?

66. So we may say 6 "I‘ — ‘ 5

******i********************************************i******************

- 67. Look at this number line.

I o 1 2 5 6 /1

T
3 L.z‘\ / § 7 10

1f wa + 3:’7 , £i1l in the blank to make this statecment

o truc. 4
| Eeplain that S5Z &7




D B B L S At S L e B e A

0\2.3456'78‘2101112.8\4!5"5

USE THE NUMBER LINE ABOVE TO FIND THE DIFFERENCE OR SUM

68. l ;24:—: 5& :::

=

69. '] -+ sg - -

****************************i**********************************i

PUT A NUMERAL IN EACH OF THE BOXES TO MAKE THE SENTENCE TRUL:

20. :L-%' E: - 5
71. 5-}- :J = 8
B w4 2=
| s |0- 8 =
K w [ #H= 9
s | -2 = (o

************ﬂ*****%*****************************i*i**********ii*

i

76. Put the opurational sign (- or —— ) in the box to make this

a true statcement..

: ' T 018=15

77. 1f l,'u;-'?:.:ﬂ , does "4 Lg.-:'-\{ ?

Circle the right answer.

“11-




b - e T E T R T TR Sl
b:z:ﬁ%é"é’?&"iloumls

78 . Use the number line above to find the ansvzer.

. oo PV m —
( g k‘g - ern’i \n m—Le } Ladend —i-' w3

’/ L o
- ‘.l &’Q,,M — s e e

E -

; Ak hhkrFrihrA ki hkk hd e kdix Khkhkkkkihkdhkikhk ki 'k***:‘:***********‘k******)\**********

) SOLVE THESE PROBLEMS:

O+ (3=

o b= 6=l

AR g
N

‘ l
;

|
l

3 r o
e

‘ 81. ! .-:.’ . -
j 82. ;) 83. 3 84, | :Z 85. Q 5 ]

ey V ~ ’ :
E: 1 . ; H’ + Ciwr \ - ‘ 2&
.{_" ,. ‘ - 3
2N LL o a? 2

' g i , ] o
;‘3’- ‘% *:\****i'A*'A!c**'l.***%*:‘f*'.\'*:\*****'.‘:r'.*'k********7\':\'****7\**************1\*1\'******
-
. 86.
;_.K 4 8 7 . v - w—— ¥ e s # Ve e ;
k- 3 88 :
S i ) 3
89. . i
e \ :
3 |
£ 3 Put a "1" in the circle
é"‘:'-;-
E A Put a "2" in the rectangle
i.{i‘ Put a "3" in the square 2
2 - P
3 W8 g
3 } Put a "4" in the triangle 1
1 ]
. 12! ¥

y ~12-




90. lsing the 3 line segments below, put an "X" on the longest line segment.

91. Using the 3 line segments below, put an "Q"' on the shortest line segment,

R LI 23T RIS RS AL XL AL TR RIS EET IS ET AT ST AT S S AL RS R R RS R SRR R ERLE £

3
#

» 92. Draw a square.

E 3

3 93. Draw a rectangle.

= 3 94. Draw a triangle.

F 3

o

£ 95. Draw a circle,

,

3 ;c

] -13-
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>

96. KIS
i 1 - A TTTTWTT T Y
) o 3 % $ ¢
. \/\ Z_
W\WC Ne S <

Look at the picture of the pencil and the ruler. How many
inches long 1s the pencil?

Fhkkdkhkhkd sk krhkAikhhkhhkdddhkdhdhhkhhddhkdrdhhhhdkhhkddhdhdkhhdhdhhddhhkhhhkthhhhd

1 97. CE D DE 2DCEIDEIIEDD
v ». ’

%

ot oo en wo 42D . ,:_.—/‘-'

" e

é Look at the picture of the .box and paper clips.

How many paper clips long is the box?
L R R R R R R R R AR AR E XTI R LT EIT R R T ITE LI LI LSS SIS S L 4 222 2L SR 8 8% 2

' 98. If a pint holds 2 cups, is 3 cups more or less than a pint? Diaw & ring around
i the correct answer.
MORE LESS
: Fhhkhhkhhkhkdhd AL R AR AT hddhh b hhkh Ak hd A FAFd A AR LA AT AT Tk A A dd T hdk Fhk et h ik
3 99. Draw the hands to show 100. Look at the picture of the
the time that is written : clock. What time is it?

under the clcck.

I
. 2. |
;8
G 2
1
Y
: 3
¢

B e ot e @ e m— ten e ema———




101. Dana had two dimes. llec spent one dime for ice cream.
He neceds 2¢ more to buy a top. What does the top cost?

102. Look at the picture of the
thermometer.
Tho temperature is between

and

degrees.

103, Craians cost 25¢,

Cathy has 2 dimes and a nickel.

Susan has 1 dimc and 2 pennies.

Put an " X" on the name of the girl who can buy the crayons.

Cathy Susan

PR EER RS RS LT R AR SR EL R LT R LR TR R XTI R T R R Y Y P R AR 3
Count the money in each box.

Write the amount on the line below the box.

(51) (b 54

e e e e e e mamn ] e e e e i e et e

¢ ¢

-15-
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MATHEMATICS TONCEP1S TEST

Basic Test:

H

Part Il - Timed

Name — Llest T TFirst o Middle
Teacher 77 School T T Grade T
Bate 7777 Tesl Score -- Part il

DIRECTIONS TO STUDENTS

1. Write your name ond other information on the top of this sheet,

2.  Write your answers on the tesi booklet.

~16-
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. A . )
Yoy ,'- In{/‘ ',o‘\.ué' ,{ :/’7/1’((}' :".’_111( R ¢ ("

VAL ‘ e ( \2','
Addition Tcs+ Time imit: 3 min.

J / 3 i@
+_3 yll rd +/

L
L

3
12 it

=
S

k)
T

Qo=
O

|

+
e ~
+
NS
f
'V
-

|
|

o
G
N

i

N
~
S

N
S
oren
§
¥

~17-
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ANSWER KEY

PART 1 105 1tems 12 pages

TIMED TLSTS 50 items 2 pages

TOTAL 155 ttems

-19-




MATHEMATICS CONCEPTS TEST

Basic Test: Level One

1. Look at this set of numerals. Draw a ring around
the object which is not a member of the set of numerals

(1,2, 3 4 (M5, 6

I Ry R O L L L R R g L T R LT LT Ty,

Are these scts Lqu1valent7 Circle the answer. YES NG

/ A /xo | omratsdo

T)

3. Match by one-to-onc correspondence to check your
answer to the question in number 2 above.
LR AL R R AT P ET IR TETI L T R I R P I TEFE FEE T EI X R TR T R R R

i \Fii ] . . - H
4.  Putan X" on each of the two equivaient sets.

¥ @ %

5. Put an "X" on the set that has more members.

VY — .

¥4




6. Putan "X" on the set that has less or fewer members.

B 57

f‘ﬁ@
ﬁ

1,72/’)

R ! ~
I —

***ki**s\*i*****d l‘kk*kk**k*k*i khkhhkhkhhkhkhkiAkdkdthkkdkAhkhbdhd bkl Arhkrhdhbdrhkddk

7. How many members are there in the set of elephants on the ceiling of

this room?

MAKE THREE SUBSETS FROM THE SET AT THE RIGHT:

g e oo aremen e
The set © e o %ﬂ/’} A O [ ]
of Q% o o o W a-

bt o o] 7 A

. N Fhe —
Thcgse“}‘ 6 & B %vé‘l/\/ A O L]

of A,S D Pa FaN Al M’I/ﬂfh‘k

o 1A O
R A 0
10. .
The set | 2 = O A
L BB
= O T

WRITE THE CARDINAL NUMBER FOR EACH Qll

12./? J O 13,
S AN

11.

-21-




//;4. Order these numerals from greater than to less than:

————— - -

’Z:‘S;ZL]LJ?J(OJ Olglgl/
9. £. 1, ¢, 45, .___‘Z’ __ég - A AR O

15. Order these numerals less thap to greater than:

s Ar— o

4,0, 7 963 5 2,18

J

D, 1, 2.3, Y, 5. 4. 7. &, 9

\ 16. Order these numecials from greater than to less than:

~ /9,23 34,17, 28 33 //

J2. 39 28, 23, L9, 17. L.

USE THE syMsol. < OR > TO ORDER THESE PAIRS:
- oy
1. 57253
/
13. 4l L5 4

19. Circle the fraction beclow the box that shows the fractionn?
part of the box that is shaded.

e aetn o

/

Lo L -
i 3 )

20. Circle the fraction below the box that shows the fraction-
part of the box that is shaded.

L.
uff ﬂt‘




1 21. Circle the fraction beclow the box that shows the
:{~ fractional part of the box that is shaded.

Py~ sy v e, e,
” # .

//// ’ A ya

//’1'.’ P ,/

e L
AT ANT IR

oA
X (' . t 22 2 XIS R E T R R I I R Y R Y T E T T ] *****:‘:**********i********** kXhkkdk &

. 22. Putan "X" on the fifth man from the star,

¥ )

] 23. Dprawa ring around the ninth man from the star. ‘
: !'"' . .

i D

(-

. {

49 /;

PUT "X" ON EACH NUMERAL BELOW THAT NAMES THE SAME NUMBER AS 5.

o o s 23

h— 26. (o + Z 27. 'D<2

‘ COLOR ENOUGH CIRCLES TO MAKE A SET OF:
ool 5 9 @@®OOOOO0
e R PYYYY Y X X ISl N
{ SR B N N N N N N N N

PUT AN "X" ON THE NUMERAL IN THE TENS* PLACE:

e N Sr—nmrevs mmane e - s

of IR

DRAW A RING,AROUND THE NUMERAL IN THE ONES' PLACE:

Al ok bt ALt
L

{
N
-

ke

9B 56

93—




MATCH (DRAW LINE SEGMEMTS)

-

,,_.
[ L

LEESE R ST ETE LT T LR R R R R R L R Y R R el LY gy

SHh oo Cotheat — 0
. 46. Write the expanded numeral for \ — /
g % Example: ; L!. = \ O —-" L}.
i T"‘/d’y/ﬂ/ ' 47. Write the expanded numeral for !J 2 - ‘é'?LO +2/
FhAI A I AK LK IAI R v d ket 9k Rkk LRI S PR R R E T R L ER I ST 0 R LR S L L Y X TT T
48. Write the numeral for:

2 tens and 4 ones ;2 g

49,  Write the numeral for:

5 tens and 6 oncs :5 é _

~24-




BESIDE EATH NUMERAL WRITE ITS NUMBER WORD

5 50. &220 /
i

- 5\ Zewo 2
, _lﬁ ) 52.  _ _#haee

— 53. a{ Ocets

3
/

_ 4. . Y
é
.
g

. 56. et re
|

- 37.

: 58. ::21;;,;¢,p 'C?
E 39. ___..M Io

KERARAAR AR A L SR E AR RIS ARSI T LA F AR LI AR IR AR DAL AL A AL R AL A AR ARL AR A &L A kA AL

60. Draw sets of marbles for this equation: ;9/',00 MWM
Vi = g
- 7 W&

m .ékaa£>‘3/ et 4o .)fe*fff

i E

, -25-~
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O
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61. Hareis aset of 14 marbles. Draw "X's" on 8 of the marbles.

OPEEO®E®®OOOO0O0O0

%{W MJ(W at

r
: !
W e o o

]

10 62. How mony marbles are left?
2 > - 63. So wc may say \ 8 o 3 . Q S
'té *******kiik*****k****ii**k**i********i***********************ﬁ********

A\ 7
E 3 64. Here 1s a SCt"Of 6 A S . Draw enough to makec
|
3 total of 15 A ? S

g AAAAND ADLALA

B AN ;ES_ JAVRVAN
b

) . ?

; ; 55.  How many triangles did you draw?

| 66. So we¢ may say é "f‘ 2 = ‘ 5
At el

************i******i**%********&**************************************

: [ 67. Look at this number line.

\/_,‘, - s

e R i A \ ] C 0
2y _,,//’/// ;]

i!j 1f I{, . 9..'7 , fill in the blank to make this statcomens {!
truc.

3 ae’d h' L
3 wn———— Lt
{ q? - -

é _26-




et arvte Bt oy

LI hvensioncd i EAVET s

D e e S e b P

0OV AL 3 4 5 6 1 8 9 lo i 231415 16

Bt oreort Py oy if HLpr TR T <

UMBER LINE ABOVE TO FIND THE DIFFERENCE/OR SUM 2.2, -

USE TH

o |1 $=_4
T+ G= 45~

R R R L P R R R L e R P P PRI RIS RS S 2L S kAL En R 2y

MY

PUT A NUMERAL IN EACH OF THE BOXES TCO MAKE THE SENTENCE TRUL i

2. L+ 1|3 = o)
71. 5*’* Il =
L

H

- 3

+ 2 =le

73. lp" 8 =2
; =

74. .L_-f?: < Ly'“' -

s [Fl -2 = 6

b e @ rerd

K AF A I IIAIAAAFTART T AT ALV AF AR A I AR LR AL A AR AL AL AT A AT Ak kkd kLA Ab kb ohdd ik

76. Put the opcrational sign (-

a true statement.
WE?ﬁmHS

7. 1f "/~~i~-7-==|\ . docs 7+ H..'.;:-\[?

Circle the right answer. NOC

27~

- or — ) in the box to make thuis |




£ < i 78. Use the number line above to find the answer.

7oy -

{ i 3 4 M - 4 -
kg*ﬁ/}.r‘/w"__,é.a_-%-z’ - . O

*k****************************************

]I **5**%****************%******

SOLVE THLSE PROBLEMS:

k“. 79. O -+ ' 3 ::DJ
¥r 80. LD — (; . :;_[:E;W

r
.

3!
LGN
1-
==
|+
=
|y

N
%\3
e
€Y
=
—
9
(
N

=
+
=
-
&

P e datdiband

******iiii***ﬁ**iii%*%*ﬁ***i*‘ﬂ*i**i***i**i%%*********ki****%*i**%**%k*

s6. | | / \
87.
/
88.
| D \ )
S ] S

Put a "1" in the circle

-1**{
i

¢ .
iﬂ.nwnm« ORI

|

[ RRNN'Y

R

put a "2" in the rectangle

L.

Put a "3" in the square

fLJ pPut a "4" in the triangle

o —?8-—




]

90. Using the 3 line scgments below, put an "X" on the longest line scgment,

shortest line segment.

91. Using the 3 line segments below, put an "' on the

X

—r

U — 9___~-_..._.,.__

dkk kFh Ak kI T AR T AR AR ALK R TR AR R R R FAAA KA L AAR AKX C A AR AR AR AT kL %k %

92. Draw o square.

* ”
93. Draw a rectangle. /7«)»?

94. Draw a triangle. L

95. Draw a ciicle.




B e N
o6. L Lo (

— T T T T T L
| -5 3 \ 5 ¢

. \ Z.

W Ne S <

Look at the picture of the pencil and the ruler. How many
inches long is the pencil? ‘

***************************************************************4**Q**

7. CEDE I CEIDEINED

-y =

—_— - .
Look at the picture of the box and paper clips.

How many paper clips long is the box? jéf"

********%**************************************************************

98. If a pint holds 2 cups, is 3 cups more or less than a pint? Draw a ring around
the correct answer.

99. Draw the hands to show

the time that is written clock., What time is it?
under the cleck.

100. Look at the picture of the

-30-




101, Dana had two dimes. e spent one

He needs 2¢ more to buy a tup.

s

102.

103. Cr lyonh cost 25¢,

dime for ice cream,

What docs the top cost?

Look at the picture of the
thermometer.
Tho temperature is betwecen

. éz é? and \QZZD

Cathy has 2 dimes and a nickel.

Susan has 1 dime and 2 pennies.

Count the money in each box.

/0 624u0£—4f0
20 @andl O

/0 and B

Put an "X" on the name of the girl who can buy the crayons.

Susan

P
R A R R N S R LR R R R R RS RS R XTI T RIS LR RS RS AL L L & B R AL Sk s

Write the amount on the line below the box.

104. e

@) G

- - - — o S 0,7 #® om
P et -

b5 <t

=31~

105, (o = e e e e

I 504 )
Cu n




A c‘c!i tion T&S‘f’

O |
+ 3 1
3 L
o 7
t L +]
uf g
Yy 2
t 3 +9
7Y
[
t 6 t_f?i_
~7 g
g i
+ [ t+5
9 9
A e,
+4  +0
/0 /0

-32-

Time Limit: 3 min.

/ 3 4
R o B +l
3 Ll S
7 3 4
+0 +2 4
H 3 g
5 5 3
T/ +4 +6
b 7 7
3 5 1
t3 +2. +7_
b 7 s,
5 ) 7
13 +4 +3
§ & VZ,
5 0 3
+5 +0_ t4
/0 % /




Subtraction Test Time Limit: 2 min

9 / 3 b
-0 -1 — & -4

) 9 0 / 2
| ? 2 2 4
B -3 - -1 -2
, 5 o / A

B g 9 7 g
| -4 -7 =3 -6
| “# A 4 &

9 /0 7 9

-6 =5 =4 -5

3 5 3 Y-

9q 5 0 10

f ] : -33-
o




MATHEMATICS CONCEPTS TEST

Basic Test: Level Two

(Grade Two)

ANSWER KEY AND TEACHERS' GUIDE

Pleasce rcad all items to your class. This means the entire ;
class is working on the same item at the same time. Note special :
comments on certuin items. Comments and answers arc written in
long hand. You should have both the Teachers' Guide and a student
copy of the test with you as you administer the test.

Timed Tests: Thesc should not be given with the other part of
the test. Timing is cxtremely important if we are to test the ob-
jective as stated in the curriculum guide. Place paper face down
on student's desk. At the signal have students turn the paper
over and begin working. Be surce to call "stop'" in exactly 4 min-
utes. E
This is a 98 problem test, excluding the timed tests. Sance some ;
items have morc than onc answer, the numerals in ( ) have becn :
placed to help you in scoring. You probably will not want to give
the centire test in one scssion. You may use your own judgement
concerning wherc to brecak 1it.

T Ymera— ST
<

1




A CROSS REFCGRENCE OF OBJECTIVES FROM THE CLARK COUNTY CURRICULUM
GUIDE AND ITEMS IN THE MATHEMATICS COVERAGE TEST

E—

CODE:  "N'" means number strand; '"Nu" means numeration strand;
"0" means operations strand; '"G'" means geometry strand;
; and, "M" mecans mcasurement strand.
3; An cxample: M-4 mecans objcctive #4 in the measurement strand.
2 ;w
] '_ OBJECTIVE 1 ITEM # OBJECTIVE # ITEM #
| N-1 1 0-14 § 15 54,55
4 40 N'Z 29‘3 O"l() 5(),57
‘ N-3 NC 0-17 68,09
[ E—g g 0-18 § 19 70,71
- -0 & 2 2~
A 2 0-20 § 21 72-74
N-7 7-12
] N-8 13-15 G-1 58-63%
g N-9 16-18 G-2 04,05
3 N-10 19 G-3 66,07
8| Nu=2 21 G-% NC
. Nu-3 22-26 G-6 § 7 76-79
Nu-4 27 G-8 75
P] Ny-5 28 G-9 &0
5? Nu- 0 16-18 M-1 31
il M-2 8¢
E. 3 M-3 NG
- 0-1 29,30 M-14 83 .84
i 0-2 3] M-S 8%
‘2 0-3 32-35 M-06 S0
xt 0-4 + & - facts M-7 87
[T 0-5 30-44 M-S 35-9053
iR 0-6 32-55 M-9 91—
: 0-7 45
- M-10 95-
o o 95-98
1l §0-9 40
3 0-10 47 NC - R
3 01T 78,49 means not covered.
3| 0-12 50, 52
1L 0-13 51,53




EXAMINER'S GUIDE

Pleasce rcad cvery item to the children. Have students recad silent-
ly while you rcad altoud. The entire class should work on each item
simultancously. Note spccial comments on certain items. Comments arc
written-in long hand.

At the end arc 2 timed tests. These should not be given with the

other part. Timing 1s extremely important, if we are to test the ob-

jective as stated in the curriculum guide. Excluding the timed tests,

this is a 98 item test. The test should probabiy be given in at least
two different sessions. You may break it accordiag to your judgement.
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Two

Part |
Name - Last First Middle
TJeacher o h School Grade
Date - Test Score -~ Part |
DIRECTIONS TO STUDENTS
»n 1.  Write your nom2 and other information on the top of this sheet,
] 2.  Write your answers on the test booklet,
’ »_‘;
E 4
!




MATHEMATICS CONCEPTS TEST
Basic Test: Level Two

1. Look at this set. Put an "X'" on the object which is not a member of
|

the set of letteis of the alphabet.

(A, C 5, F w) Erpheoqymet’

h AT RK I A AR A AKX EEAIA I LA XIAAXAAA AL A AL LT L LA KT AILRLXA T AR 2 R Fxkhkd x %

2. Here aie two sels. O
O

i \
o\
’ O
O
i e

3 Are these sets equivalent? Draw a ring around the coriect answer.

:'
i YES NO

.- . o . ”

3 ‘ 3. Match by one-to-one correspondence to check your answer.

;‘ } T R R R R R R R PR ETIE EE E T RIS ST PR EETE TR L EE PR R PR S P EUE S

3 4, Heie aie two sels.,

Lo it o
, .
i3
| St

: & Are thesa sels equivalent? Draw a ring around the correct answer.
3 YES NO

3 If you said no, put an "X" on the set that hos more members.
3




5. Read these sentences.

A is the set of live boys in this room.

———ac e

B is the set of wild foxes in this room

et

C is the set of girls in this room.

et =

Put an "X" before the one which describes the empty set.

6. From this set, form a subset of the names of girls beginning with the

letter S.

-

{Sue, Jane, Mary, Sally}

Subsct = { }

*************************************i*w*********iﬁ*****i******&**

A Ed ey i PRI T
wererey:3 Eggg

% E' 7. By drawing rings around sets of 2, count the number of x's in this set.
¢ XX XXX
i X X X X X

= X X X X X

1 % X X X X X
- 8. How many sets of 2 are there? .

9. How many X's are there in all?

e

*******4%***********%*******1*************i**i*********i**********

‘; v

10. By drawings rings around sefs of 5, count the numb~t of N\'s in this set.

o
>>> >0
>SS >S> D

> >

- 3!
' li 11.  How many tats of 5are there?

—— ¢ gt st

- r—— w—— 40 o

ﬂ: 12. How many /% 's are there in all?




Writc< ~> or oy in each q to make thesce scntences
) \s—-/

v 5402 (D30 lnd A @
w. 23 () 20 +3 m% o

5. |7 4‘5@ 20 u%"m}/@.p

***************************************

***********%***&****** * kX Kk

16. Write the fraction that names the part of the circle that is shaded.

—
gl .

17. Write thz fraction that names the part of the square that s shaded.

18. Write th. Jiaction that names the part of the rectangle that is shaded.




19. Look at the word "M ATHEMATICS"

What is the tenth letter?

e o et o o rp a < Par  Anem e s . $® S Mo = Ao i = e o e mwesmoemeo

20. Put an "X" on the numeral which is not another name
for 135.

ay [0O +30+5
v) Joa A20EME
)0+ S+ 30
d) 122 + 10+ 5

21, Write three huadr ed twenty-four in this box. (a numevral)

B
MATCH THE NUMERAL WITH THE CORRECT WORD. DRAW A LINE
. SEGMENT TO CONNECT EACH PAIR,

22. fourteen /7
23. nine /‘2

24. twenty i'[/
25. twelve ‘? 0
26. scventoeon q

27. In S69, what Jdisit is in the tens' place?

oot at i

28. EXAMPLL: 853 = 800 + 50 + 3

Write the expanded numeral for

749 =

oy rmr Sema e m A e s sme e memem e e e e SoSesse S i — . ———




30 Lorrealk WWWW 7@/»«»740

7L Qhous) abave 81 belscd Lorer .

29. Complete the following sentence. (9 ’}“ g ""[_ ]

30. Show the above problem on this number line.
T L LT S St e O T R A
o | 2 3 4 5 6» 7 9 G 4oy 12 1R 14 JE

KEAAARAAAAAAARA AR (AR R XA LA AL AL AL it AR A7 L83 0k L) DAL VAR LA KkARA kA RAYS

37, Write the number sentence that tells the difference betueen

the number of O 's and the number of [j 's

OOOCOCOOOOO0

———— -— T M te b meeam e e e —— i e e

*i*******t*ti**t*******************’* khkkFhhkhhk A xhkd kI hsdkRiiA Fhbhkhdhhd

WRITE TWO ADDITION SENTENCES AND TWO SUBTRACTION SENTENCES
RELATED TO THIS MODEL.

3 2 ¢ - + = e —— - — Tt g8 . ——— v ——
T
33, + =
O )0
34. - = ) .
35. T =

——— - —— b S e nw  wm am e W .

Put - or —= in the circle 1o make these sentences truc.

36. /A,LOG::?
37. 9 03«1’.’[9
38, ?()3 =/




WRITE A NUMERAL IN THE BOX
TRUL.

39. /7 0. |0
T "g

o
s1. 7+ [“‘ = /5 42 . E‘ — (0 = L)

43. ?_/,5 —— ;’_\

45. Complete this sentence.

2t (o = Lo h
46. (3‘; + ) - L = 3 F (_—--«- -+ ...-->

' el NS
Hint: e ee o2 000 O 'y et on

PR E T R L AR A AT TR 'J:*'}::’::{'************ ErFAANNKA AR LR TR TR R X UL

IN EACH OF THE FOLLOWING, PUT A NUMERAL IN THE BOX THAT
WILL MAKE THE SENTENCE TRUE.

. 748 = 701+ |
48. -}3 =3

4(). 7 — ::-:n 7

TO MAKE THE FOLLOWING STALEMENTS




50. Find the sum. ,LL/

{
2
/1 1R
§ &7 1~

51. Find the sum.
34t
45 &

Pl o

52. Find the difference.
2LLT

53. Find the differcnce.

S2
~-35

-7 .-o- T
54, Draw a set model to show the product.of /i[ ), J

55, Write the name of the product in the box .

LR EE R AR SR LR SRS TR EST A S S S E T AT RTITI IS T RS LI EEE LT ET TR EEEEIE FE XY

WRITE A NUMERAL IN THE BLANKS TO MAKE THE FOLLOWING
SENTUNCES TRUE.

56. z){ L+ - »F l,"..

W TR ) 90O

7. &t lotd = >’(o

EKC -15=

Aruitoxt provided by Eic:
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Put a "1" in the circle.

Put a '"2" in the rcctangle.

Put a "3 in tho square.

Put a '"4" in the triangle.
Put a '"'5" on the line segment.

Put a "6" on the line.

58.

e e e v e = ce e

60. 61.

62, 63.

L F T X R ETEWE TV EPT TR LT ETERPTELTEPPETTE LT EERT RIS EIEIERETEETETEITEXTEIIE L BETE X TS
. i ] .
Put an "X" on the cone.

nl"l"\Al b re
—inevY <& )

——y
[2ad
-
e

¢ ¢y linder,

64. ' 6.

D

- e e

P

-11-




put an "X" on the plane figure which is not closcd.
Put an "I" insidc the closcd figurc.
66. ——-———-"

67. /‘ \\
**********k‘)‘k**'&‘k*i**‘.‘:k’)\**i'}.‘:-'.‘:’:***********'f.’****‘k:"**************’.&:&'**
68. Draw rings around subsels of three X's.

X X X X X ﬁm? ,,4»/'42/1://70 hat
‘ X X onrele { .
x X X S XS eadks 44
X X x XX lotheaF
* 7 :

69.  Using the above example, complete this sentence: 155 3

kkkkkkk FRREE T TR TT T T E S RSk o hk A AIAEEREAAL A AR AL A AR XA X LI AAFAK

70. Above this number line show that 3)( L‘~ —— /@

UV DUUSIEY IO PSS BRe: PR PR BRSSO L —

- t '
T B B
¢ [

o I a 3 & 7 8§ 9 J0 i 2 13 14 /5

71. Below the number line show that 17[)( 3 —_— /(2,
[

AAFTAAR K AR R AAA FX A hA T A kAt hdR ERERrAreR TR RORRURT TP LR TR L A A 2 A AAAARAAAL AR

IN EACH OF THE FOLLOWING, PUT A NUMERAL IN THE BOX THAT
WILL MAKE THE SENTENCE TRUE.

2 [ x 6
s 7R =T
74. o 8= [ ‘

\)
&

-12~




F]
: :
3
- >
2
3
e
-,
&
N
4
bs
"
4 i
TN
.
5
a
&
H
{
3
N S
3
3
=3
.
.
%3
* %
.
- £y
R
*
7
.
e
oy ’.’
S
3
.
S
&
X
2
3
3
‘
+
<
,
. :
* (22
3
E 3
B e
e 3
s
3
z »:
K “3
E
2 -4
-3 B
Ea g
. 3
5. E
il
2 g
ks i
1’ 3
o 3
]
L
4
3
4
8
K¢ 2
S
Al
k
3
i3
:

75.

e meiem i tam ',-__ ————i e ] e

Draw a line segment 2 inchzs long above this ruler.

I 2

76.

73.

80.

81.

3

Inches

TSI i Petrs NAR BN A L M - e @RI L W W awa.a-a—-———————.j

Draw a square.

Draw a circle.

77.

79.

e S -

1)

!
S

Draw a rectangle.

Draw a triangle.

Draw a number line showing the numerals 0 through 10.

P vt S el s s et o -‘._...._.__._-.-.-.g-_.. i..._

/ 2

]
3

PR - e — — ———- .,]
| . |

i 1
y &

—— .-

Here is a rectangle and a ruler. The length of this

rectangle is 4 (inches,

corrcect choice.

-13-

feet,

yard).

Underlince

the




.
“ s v o o e s ———

<

o | i | o |
/ e J 4L &
R Inches . e

. . ’ .
Here is a linc segment and a-ruler. The length of this

line scgment is about inches.

83. Draw the hands to show the 84. Look at the picture of the
time that is written under clock. What time is 1t?
the clock.

2N\ |
2 )
3 3
L
U 5 ¢
- 5

s
5:00
s e e e

— e

85, Put an "X" on thc heaviest object on the balance scale.

86. To the nearcst pound, how much docs the block weigh?
(-- - -

N o

(11
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o
y
l !

€ e AT T [Sinaneismmtdringragrt oA AT ALET L AR T
. vy .

i
oy,

1

! TP

#

3 - - )
3 o P — - - ———- {.":
'z? - e ,‘ (‘0 H
- 4 . S |
< 4
E 3 ' 0 o e
' .‘, E 8 7 . ] s ‘[;5 — e c
£ 3 40
E
. :3 3 - IS
¢ 4 - 3¢
o
E .3 - ~50
E ¥ a
E- 3 — -/5
= )
: | I
E - Monday Tuesday
: Was it warmer on Monday or Tuesday? Draw a ring around
_ the correct answer,
3 *******************kw*i******i*******ii********************

MATCH THE NAME OF L[\CH COIN WITH 1TS VALUE. DRAW A LINE
: ' TO COUNECT EACH PAIR.
3 88. Penny . /0«’/5
£ 89. Dimc &5{,‘
E 3 90. Nickel )¢
91. Quarter jdct

92. Half dollar \5’¢

93. ///”
%Lgarl{cr @ @ é‘i rﬂq}l

The total value of the above coins is .




-

I &
g ‘ =
b . X {
. B R L e e e e e goe smespocpaeyccro - . . }
- R Ty N g i Rk i it /e Sl skoite K s 2 e 2 4o ~ e e T TR ek i o o
R e e el £ G G e

-

-

94. I have 150 cents. Write this amount uas dollars and cents.

—- et e @ S

95. 1 half dollar = dimes. E
96. 1 dime = pennics. %
97. 1 dime = 'w"mmn_m_nickcls. ?
98.' 60 winutes = hour. )

~16-
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Two

Part Il - Timed

——— — a———— - - —— e e - ——

Name Last First Middle
Teacher Schoo! Grade
Date Test Score —- Part |l

DIRECTIONS TO STUDENTS

1. Write your name and other information on the lop of this sheet.

2. Write your answers on the test booklet,

-17~
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2 Tine limit: 4 minutes f

ﬂ§ ADDITION TEST

7 6

5 9 g 3 2
+4 12 16 3 +7 +3 2

SN

A
-
WS




whelingie ARy e
g9l “{‘.. “iv"ﬂ lf:’;_.rwwi

3

,
Cu ¥ \
Sy B s
2R st ‘L--‘.ﬂ e

.

. ‘ , ’
/Q,' ‘1/1. i 'ﬂ . v 4 .'L\A‘A(,‘/_‘: /{{' 1y ‘Ig Lt ,‘(.f'\l

o SUBTRAZTION TeST
i ja & 12 11 2

BB

4
|

Vg
)

-3 -

|
|
|

R
!
)
}

{
W
)

Y

8
(3

P ahtf




TIMLED

PART
TESTS

TOTAL

1

ANSWER KEY

98

80

178

Ltems
ptens

i1tems

-20-
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MATHLMATICS CONCEPTS TEST
Basic Test: Lev. | Two

1. Look at this set. Putan "X" on the object which is not a member of

the set of letters of the alphabet.

(A C X F Wi

******************************i***k?3**&&k*********ﬂ**************

2 H are two set B - /O
. ere are two sets, ~<
ANVAN =

/- Ho-/

- — | —

Are these sets equivalent? Draw a ring arcund the cortect answer.

NO

3. Match by one-to-one correspondence to check your answer.
*****%iﬂ**&%***%*i**************************i**************i******

4, Here aie two sets,

Are ihesc sets equivalent? Draw a ring around the corteci answer,

If you said no, put an "X" on the set that has more members.
; . .
2y cohals T aas emoorseal

”

-

el

e b e T et 8 T e Tt

Frriing

L AR ot WL st

vt mh phn £ g g

Y

% FNepa & T -

oo T ST A% e




hs e = e e =

Monday

Was it warmer on Monday 01“Tue5day?> Draw a ring around

the correct answer.
Y R R R R AR ST 2 g b T b **:’r*‘k**'{:****** PR P R R F R TR E TR L L ST LT

MATCH THE NAME OF EACH COI. WITH ITS VALUE. DRAW A LIN
TO COMNECT EACH PAIR. ,

88. Penny

89. Dincd

90. Nickel
91. Quarter
92. Half dolla

93.

q)uar%mr‘

The total vatue of the above coins is 9?/ . :

o h gy

~ T do B, 4ip |

-32-




5. Read thesc sentences.

A is the set of live boys in this room,

X_ B is the set of wild foxes in this room

C is the set of girls in this room.

e s——

Put an "X" before the one which describes the empty set.

6. From this set, form a subset of the names of girls beginning with the

letter S.
{Sue, Juane, Mary, Sally}

Subsc¢t = ( P }

PXM‘/
)&a(l(l R
FhEELAAALLALA AL A VLA R & ALALRAAALAALT LT AL A A A LA AL XX AXATA S htd bt tdtt R

7. By drawing rings aiound sets of 2, count the number of x's in this set.

8. How many sets of 2 are there? /@

9. How many X's are there in ali? _2¢)

(22 2L S S TR R EFSEETE PR XIS ST ERTIESLEEETEEIS SIS EEEEEE LT EE L EEL ST T XS L

10. By drawings rings around sets of 5, count the number of /\'s in this set,

-
. v - -
KT T o 10 pre TN O ety b o
I .

dee nite /M 70 bure. m /;0 A

VAN N\ VAN

N[ /1 A

3‘} A\ AY I A

1. How many wis of 5 aie there ? -l 0 \\9} Ay

12, How many /'s are there in aH’?_“_Z 5___
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Write< > or _ in each (\ to make these scenntency
) o

s 5412 & 30
w. 23 () 20 +3
5. | 7 - b @ 20

T R R L R e R RS Rk b ] B A R R kR R R thkkl kk

16. Write the fraction that names the part of the circle that is shaded.

—

Vi W

-t —— . s v e

17. Wiite the fiaction that names the part of the squaie that is shaded.

78

18. Write the fraction that names the part of the rectangle that is shaded.

-3




19.

20.

2°.

22.

23.

24.

25.

206.

27.

ook at the word "MATHEMATICS"

What is the tenth letter? ()J

—— b e s e T = e . m—

Put an "X'" on the numeral which is not another name
for 135.

a) /06‘/'("30-%5
b) Joa FROTIT
)00+ S+ 32
I ey /i S

Write three hundred twenty-four in this box. (a numecral)

o = ot *

329 |

MATCH THE NUMERAL WITH THE CORRECT WORD. DRAW A LINE
SEGMENT TO CONNECT EACH PAIR,

fourtccx\

seveiiteen q

In 569, what digit is in the tens'  place? G

EXAMPILEE: 853 = 800 + 50 + K)

Write the expanded numeral for

19« DO 40 L

D4~
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& ATk T 2 ) M Xl e T T, " - £, - -

. N P > 2 : 4 . Ll Cag s = 3 ey -
A4
fas::; oy : ke
] ] | A—— - > ey

_7.7 R DI /u"‘. ~ "/—u/ﬁt‘-«’ ity .J// l( AR 7 ° /w

i T s gt adin) a2

29.  Complete the following sentence. (D 7[ g - /ﬁ/:j

30.  Show the above problem on this number line.
/ \,‘ _/f \
IR U NN PRIRUS SUU R el LRI TV U TR Bl ¥ B S

0I2‘3q‘5£97?9101/,o\' /f,é/..

FhAAA L ALt ir LR vl L Pl LA AARI AL L UAT L APAS MLAR At AU kL AARARAKRADR

31. Write the nusber sentence that tell- the dirfevence hetveon
the number of O 's and the nuber of [“"'5
e 7N N - -
OO0OCOCGOOO0

G- =95 lﬂ&MWz‘eW)

*'ki*********i******«*****‘ki**’:**’k*u Sk kA RIAFEAEL LI AR TR A XTI ki d Lk

WRITE TWO ADHITfON SENTENCES AND Tw0O SUBTRACTION SENTENCES
RELATED TO THIS MODEIL.

32. A 'J_’_ i + S é____- = R // ce e e /"“\
Qoo
33, AR I // %\ /O\ ¢ O)

- C OO
T o 87 )8 go
S D 7 A A J L RN A

3s. ) - D Y AR

Put <} or — in the circle to make these scnteaces truc.

36. [ AL @(p::
37. G Q -m(

38, C]®3 =/

~25-




CRITE A NUMPIAT INCTHE BOX T MAKE TIE FOLLOWING STATEMENTS
TRUL. |
39, /7

9] le

)] ] &

A ARV v A

45. Complete this sentence.

24t b=b4 2.
6. G4+ 4 =3+(2+4L)

-0
Py .' o 'ﬁf{‘

flint: see o0 ecp & *

TR R T FREE T &5 AAFRAAAALAARA AL AR LELRAL LA A RA X0 LTRAXL I K AR T AA XTI VR

IN EACH OF THE FOLLOWING, PUT A NUMERAL 1IN THE BOX THAT
WILL MAKE THE SENTENCE TRUE,

7. 748 = 10 +[5]

48. LO‘ -~ 3 =3 :'?)

49, 7-« [0‘ :.'"::«-/

-26-




S0. Find the sum, /[,‘L/
2
+413

T2
-~ W

51. Find the sum.
-91,1,

+5 7
G2

S52. Find the Jdiffcerence.

247

53. Find the differcnce.

52

/7
L Py
Draw a set modcl fo show the product of ll )/ s..) - [{é}

/aoaauuy#«- LU%JQLO%&}—E
Write the name of the plodU(,l in the box . ; ’

FERAARAL T AR L AL XA AN AA AR LA AR IA AL L A AR bk FFrb A LAt AL RAAA AL LA A k24 %

WRITE A NUMERAL IN THE BLANKS TO MAKE THE FOLLOWING
SENTENCES TRUE.

2xlh = 4

56.

h

s7. (o - l’lc'/() Sl P (o

27~




Put a "1" In the circle.

Put & "2" in the rvectangle.

Put a '"3" in the squarc.

Put a "4" in the triangle.

Put a "S5" on the linc segment-.

Put a "6" on the Tine.

g 5. [~ 7]

= oy it

Lw-.-.--m.—. -——are

60. 61.

Pro—mraeee &

/ Z

%f“F' 02 <c_m,mu-_‘2wmmw_m;> o - h:ijj-—~—»»n-ne

RO T

XA ALAETLEALR E ).‘A‘*'A‘A'i‘%*********3\‘**********************‘k*7\'****3\'**'}:***
- oy ty 1
: Eg Put an "X" on the cone.

Drow a ring around the cylinder.

f 64. 65.

g,

-28-




Put an "X on the plane figure which is not closced.
Put an "I" iaside the closced figure.

66. e 67 .

: )
| D

(XX TR LRI RS L E P ELESEE TS ARE RIS PR IR T IR RS ORI TR

?Mf

69. Using the above example, complefe fhas sentence: /5“;"‘ 3 =

68. Draw rings around subsets of three X' s.

AL AAAFAXAAA XA AL FARA AL A2 F X A4 XX ATATFAAA AL LHAXAXLIT e pd et

706. Above this number line show that 3 X L{. p— Q“

./,} '\_a/’ \/

| CETA e — e I D npRu, P —_—f— e

N 3\1}' \7_eM Wz 13 14 75

71. Below the nunber line show that [71/Y 3 = /Q,
. *

RELA AR AR ALA AL AR A EA L AR LA KT ARX XA XA A X FIE A I A AR I LRI A FAATANA AR AAAARAA A XL AL R

IN EACH OF THE FOLLOWING, PUT A NUMERAL IN THE BOX THAT
WILL MAKE THE SENTENCE TRUE.

s 7 x[0]=7 *
4. ) X £ == [5]

L ooy

~29-




75. Draw a line scgient 2 inches long above this ruler,

R Y N 5 .

| a 3 4 5 |

U A’ C_.‘;_‘)__Q_S e SO m_l
76. Draw a squarc. 77. Draw a rectangle. ¢

78. Draw a circle. 79. Draw a triangle. Corisc

80. Draw a number linc showing the numerals 0 through 10.

1
|
_ S

el Sl et TS e R

[y

) 2 2 4 5

- . e e — emmrme e m e e ————— — [ ——— - ———

Here is a rectangle and a ruler. The length of this

by

rectangle is 1 (inches, feet, yard). Underline the

e, " Sotriy

corrcct choive.

~30-




82

R e R =
/ b J 4 5
— _1:’IClQJ;:T ) _

Here is a line scgment and”a-ruler. The length of this

line segment is about si inches.

383. Draw the handste show the 84. Look at the picture of the
time that is written under clock. What time is it?
the clock.

w

9 3 ] Ty
( »
N7 ¢ °

,,._.,5__@_._“.. _ %930

865. Put an "X" on the heaviest object on the balance scale.

86. To the nearest pornd, how much does the block weigh?
1

~
B a

3

I
14 FbLln<JS

~*

l
W




87.

88.

89.

91.
92.

93.

P s e e e s e e e

R

Monday @

Was it warmer on Monday or Draw a ring around "

the correci answer.

IR EEEEE R ERTERE LRSS LTRSS L LT EE TS LTSI RSTIEE TSR R SR L LTI TR

MATCH THE NAMé OF EACH COIN WITH ITS VALUE.
TO CONNECT EACH PAIR.

Penny. 0¢
I)imc/ 5¢
Nickel /¢

Quarter 0¢
Half dol lax/ ¢

@.@@

4
The total value of the above coins is -4/2 g/ .
4 42

A0
i

; -
] :

Ao Qe

£

DRAW A LINS




94. I have 156 cents. Write this amount as dollars and cents.;

¥) 5% o1 O doblas an S 0erT

1 half dollar = _ A&~ dimes.
P, e

w
W

96. 1 dime = _ /A __ pennics.

97. 1 dime = 2 nickels.

98. 60 minutes = hour.

.

et

-33~




Tine limit: 4 minutes

[
w
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o
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£
Pt
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£
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£
Q
5
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s
v
13
T
=
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[ama }
T
&
=
£
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Three

(Grade Three)

ANSWER KEY AND TEACHERS' GUIDE

Description of Test

Items for this mathamatics test have been written to assess behavioral objectives

proposed by the Mathematics Curriculum Guide, K-6. Multiple choice test items

are used where possible. Other behavioral objectives are tested by requiring the :
student to construct geometric figures. Immediate recall of basic facts is tested 3
by four timed tests. A’cross reference of objectives from the Curriculum Guide :
and items in the test is included with the Teachers' Guide.

Multiple Choice Test ltems 1

Part | of the test consists of items which can be machine scored directly from the
IBM 1230 answer sheet. Students mark answers on answer sheets. The test admin-
istrator should inform all students to mark each response carefully with a No. 2
black lead pencil. Answer sheets marked with ink or crayon cannot be machine
scored. There should be no extra marks of any type on the answer sheet. Teachers
may want to hand score certain answer sheets. In the process of hand scoring, no
mark should be placed on the answer sheet until machine scoring has been com-
nleted.

Computer Analysis

Computer analysis of test results will develop the following information:

Number of items correct, missed and unanswered for each student.
Percentage score for each student. :
Frequency distribution of percentage scores.

Mean score.

Standard deviation.

ltem analysis ~- biserial correlation.

OO XN —

IR AR




is used for a quick visual identification. However, the computer does not use this

data. In the upper right hand section space is provided to code a student identi-

fication number. Data will be processed by the computer in accordance with this

number. The recommended procedure for assigning student identification numbers P
is as follows: ‘ ;-

:1%’
Identification of Student Answer Sheets
Student name and other information on the upper left hand side of the answer sheet

1. Assign exch student a different six (6) digit number . [f desired the first
digits may be zeros, i. e. 000001, 000002, etc. The test results will be

recorded numerically by this student number.

2 Record the number vertically in the column of boxes, one digit to a box,
starting at the top.

3. Darken in the corresponding digit in the rows to the right of the boxes, one
digit to a box.

4. The teacher should keep a record of the number she has assigned to each
student so that she can identify the student by that number when the tests

are returned.

5. Two answer sheets are required for this test. Care should be taken that each
student uses the same number for both answer sheets.

Teacher Scored Subtests

Parts |l and 111 of the test consist of items which must be hand scored. After hand
scoring an answer sheet should be prepared for each student to record the responses.
Mark "a" for a correct response and "b" for an incorrect response . For unanswered
questions, place no mark on the answer sheet.

Part 1 consists of eight items. Record the responses for this subtest on the first
eight rows of the answer sheet. Part [ll consists of ninety-six items. Record the
responses in rows 9 - 104 for this subtest.

Time Limits For Tests

This tesi is designed to be a mastery test. Consequently, time limits have been
established which will permit over ninety percent of the students to attempt every
“tem on ihe test. Students should be told that there is no penalty for guessing. It
is betier to attempt a difficult item than to pass it over.

-2-




Two sittings are recommended for Part {. The test however, should be administered
in one day. This will preclude students checking on difficult items and perhaps
changing their answers on the answer sheet.

1. Part | 80 Minutes
2. Part Il 20 Mirutes
3. Part 11 8 Minutes

Directiors To Students

The student is expected to read the test and make ¢ response either on the answer
sheet or in the test booklet. No marks should be niade in the test booklet for
Part |. For Perts 1l and 111 the answer is written in the booklet. Unknown math-
ematical terms or processes should not be explained to students before or during
the test. In Part 1l students may be informed that « "model" is a "picture.”
Construction should be done with a straight edge.

Supplies Needed For Testing

1.  For Part | each student should have two No. 2 pencils, scratch paper, one
test and one answer sheet.

2.  For Part Il students will need a compass, a straight edge, pencils and one
test.
3.  For Part H] students will need pencils and one copy of the test.
Norms

District norms wili be made available so thot student achievement in different
schools can be compared. Teachers should be more concerned with the item
analysis and cross reference of objectives and test items. A study of test results
for any class will provide insights concerning areas where more instruction is
needed both for individuals and groups of students.




BASTC TEST:  LEVEL THREE

A CROSS REFERENCE OF OBJECTIVES FROM THE CURRICULUM GUIDE AND ITEMS
IN THE MATHEMATICS COVERAGE TEST

"N'' means number strand; "Nu' means numeration strand;
"0" means operations strand; 'G' means geometry strand,
and, "M" means measurement strand.

CODE:

An example:

M-4 means the fourth objective under measurement.

OBJECTIVE # ITEM # OBJECTIVE # ITEM #
N-1 1 0-30 36
N-2G4 2 0-31 37,38
N-3 3 0-32 39
N-5 4 0-33 10
N-6 5
N-7 6
N-8 7 G-1 41
N-9 8 G-5 4?2
N-10 9 G-0 13
N-11 10 G-2 T3-53
N-13 I1 G-9 19
N-14 12 G-3 55-58
Nu-1 13 M-1 59
Nu-2 14 M-2 60
Nu-3 15 M-3 Bl
Nu-4 16 M-14 62
Nu-5 17 M-S 63
Nu-9 18 M-6 64

M-7 65
M-8 66
0-3 19 M-9 67
0-4 20 M-10 68
0-6 21 M-11 69
0-8 22 M-12 70
0-7 23
0-9 24 N-12 71
0-10 25,20
0-11 27,28 Nu-o 72
O- T4 70 Nu-7 73
0-12 TR T Nu-38 Ty
0-23 K
0-22420 32
0-25 33
0-22§26 34
0-27 25




0-1 75
0-2 76
0-13§21 77

0-15§17 78
0-16§17 79

0-18 80
0-19 81
0-28 82
0-29 83
PART 11

OBJECTIVE # ITEM #

G-7 1-3
G-8 Kl
G-4 5
G-8 0
G-7 7
G-10 8

Addition Test 0-3
Subtraction Test 0-3
Multiplication Test 0-11
Division Test 0-11
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SCORING KEY MATHEMATICS CONCEPTS TEST

Basic Test: Level Three

Part |

Part 1. NUMBER AND NUMIkAlION

1. The sct of 's from this ;ollectionDAOODDA has
a. 7 mcmbers b. 5 members @3 members d. 1 member

Which shows a pair of cquivalent sets?

. { } {red, white, bluc}

a,b,C and red, blue, grecn, white}

C. a,l} and {a,b,c}
d. s.,b,c} and { }
O

3. One hand has how many fingers?
a. 9 5 c. 1 d. 10

4. .The sct of eclephants sitting in this room 1is
(: a.}{} b. 0 c. {pln@ {3 4, .';}

5. Which of the sets below is a subset of this one?

({c3,0,0,0,O
-{0,8,0

b\. { Q} c':")}
(N=.0,0)
. 13 ANO O, )

-8-
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6. The cardinal number of this sct{t) Z§x<::>
) ) f

a. 4 b. 3 c. 2 é:§:>5

7. The numerals which come before and after 710 are

a. 709, ., 710
b, 711, , 712
c. 708, , 709

N @ 709, .,

) 8. Which group of numerals is arranged in order beginning
with the smallest numeral?
a. 27, 31, 29, 30, 38
b. 31, 30, 29, 28, 27

28, 29, 30, 31

@
(g8
N

d. 30, 31, 27, 28, 29

|
L . Which statement is correct?

, O4>o’7 b. f#< 2 C. Y= d. 472 2 +&2
’ l
. . —_—
10. Which eicture shows 7= 7 \i
AN s b.) £ c. &\ d.
@ A
11. This number linc shows that
2 4
% 5
! TR 3-- >
7 Z i 2 44 < _p &
; <:::25.<C b. = C. ;§:;>L§- d. S ST

12. The fourth objcct in this row 1is <::> ZC}; <::>
0 O O CH VARG

13. Which is not a name f{or 77

a. 5+ 2 b. 9 - 2 c. 2 + 2 + 3/?;) 5 - 2

-9_




T 14, 236 =
a. two hundred thirty

b. two hundred six

~ (::::%wo hundred thirty-six

d. two thirty-six

15. One hundred sixty-seven =

_ a. 107 b. 176 £;52>167 d. 617

16. In the numeral 3486, the four is in the

] a. tens place 1
- hundrcds place
- c. thousands place 1
d. onecs place
< 17. In the numeral 3486, the 4 means :
i
- a. 40 b. 4,000 c. 4 C ;:ﬁOO ‘
“ | AWRAN i
. 18. This model S§\§§ shows "
a.)3 b. 2 c. 2 d.-*L' 4
i Qx 3 & =2 :
§
i
f

- P

-10-




19. 27 = 42 means

.
' Cay 42 - 27
3 b.

27 - = 42
; : C. - 42 = 27
; ' d. 20 + 7 = 27
5-5 20. Which of the problems below 1s a check of the answer to
:q,q this problem? 14
3 -5
. 3 9
ﬂ a. 5 b. 9 c. 14 “III’S
a 2 =5 +9 +9
]
-
i 3 21. 17 + = 32 + 17
j a. =o 1= 32 «c. =1 d. = 17
E, S
{f 3 22. Which grouping is easiecst for adding these numbers?

a. (25 + 2) + (5 + 8)

§ (@(25 £ 5) + (2 +8)

. X c. (5 +2) + (25 + 8)
a | d. (2 + 5) + (25 + 8)

ﬂ 23. Which grouping is easier for adding?

i ”k {‘II'@ + (49 + 1) b. (8 + 49) + 1

-11-




1

25. 1746 + 2042

L]
2. - 3093 b. - 3888 @ =3788 d. = 3089
26. 3947 - 2605 =
a. = 1242 b. = 1332 c. = 1352 @ = 1342
- 27. g 67 a. = 10,364
T
. 293 b. = 9,354
] 14 = 91,345
. + 5101 c- - 0
= 10,355

i
(V2
u
Y
(@)

28, [/_3(0/ a.
~]1 8§57

l

- : C ] = 3,514
]
i d = 2,514
29. 8+ 8 +8+8+8-= X 8
a.[J-¢ (-5 e [d=6 ¢ []=1
] 30. What symbol placed in the makes this a true statement?
ﬂ 14 2 =7

a. 4 b.— c. X (:ES)%-

31. Which number line shows that 2 X 5 = 5

] B 1 //2 \ /—,“\—(a

~ po
, ?L Pt T R e P S N B

.—4-2—”"_ - _: //\ ———

| ST /?\s/f\é/\VN
- § (D& IS T NGNS Y
3 ot \/

¥




32. 7 X 2 = X 7

33, (5X2)X3=[]x{(2X23)

N
] EI 34. 4 x[ |=42% =4
| a =0 =1 c = 2 d =4
K
3 35. X 25 = 0
[ ]

- l 36. If 7 X 2 = 14, then 7 X 20 =
= a. =14 =140 c. []=10¢ d.[]= 1400
i"
|3 37. /32 C: a. ) = 396
3 5
: T X 3 b = 135
c. = 196
lfli d. = 496
» 38. | 3 &2 a. = 139
| ; x 7 b = 72,114
C. = 828
C d. ) - 924
39, — a. = 10,203
31369
= 2
b ] - 122
c. = 133
Ca.D T | = 123

-13-
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49. These models show that \\\\l + \\\\\\
+

A

A

4 !

3 1

3 .3
i

v g

i o it
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41. At what point do the iwo line segments cross?

G

eV

: F
A a. at point P C. at point R d. at point!
by | . . . 3
= 42. Which figure shows a simple closed curve? 2
i 'ﬂ‘} @ -: A
- = @
‘ i b . L ~ .’
! :
. i f i
L | . 4
N ‘ - i
< 3 7
- ]
5 i
2 i

d. G

: 4 4%. The area oF this rectangle is:

\I‘ ‘_ .
: l a. 9 square units

b. 10 square units

3 (Z;:) 12 square units

l d. 10 squarc units
A\




44. what is the name of this quadrilateral?

a. trianglec CLE;;>rcctanglc c. square d. circle
/""""\
D
1 ¢ 1“ 8 A C
;
3 E
3 i
;/ g 45. 1In the circle above, point A is:
%; i a. a chord
£ ] b. a diameter
é ’; c. a radius
i':é <2£:>the center
?,ﬂf 46. 1In the circle above, BC is:

a. a diagonal

LRV Yt

-

f*jﬁ < b. ) a diameter
: lq

] 'ﬂ c. a radius
ﬁ1a d. the center
A

}“,i 47. 1In the circle above, AD is:
?rt; a. a chord

? ‘m b. a diamecter
iw g;::Da radius

-

:”?%E d. the center

48. In the c¢ircle above, Bl is:

(:5:) a2 chord b the centoer c. drameter d. radius

-16-




49.

This figure 1s a

[y

7 od

a. triangle rignt angle c. diameter d. diagoral

FOR NUMBERS 50 THROUGH 54 MARK THE LETTER OF EACH CORRECT ANSWER

D ‘

50. « 5 a. point
51. ,/”“\\\\“////’” b. path TES
Zf 52. P c. ray
g e
- 53. o > d. 1line
.
}% 54. ¢ s e. line segment éi
{, ! FOR NUMBERS 55 THROUGH 58 MARK THE LETTER OF EACH CORRLCT ANSWER
- IR

S

55. a. cube <

2
‘ 56. ‘ b. spherc A
j' 57 ﬁ} c. cylindor Q

3 *{j 58. d. cone

-17~




(¥ 9]

9. Which arca has only four square units?

60. Thc length of this object to the ncarcstié'inch 1s

object
] ] i ‘ 1 ] t [ ) l L]
l a 3 4 LY &

61. The number of square units like this in the larger
area 13

)
)

a. 2 squarc units
b. 6 squarc units
c. 3 square units

d.) 9 square uaits

-18-




ST
62. This shows one uube.k~:} How many cubes would it take to
£i11 this box? l

-

_——

J

a. 12 cubes b. 3 cubes c. 2 cubes (;T) 16 cubces
g

63. If this is a cupEEj, how much liquid is in this glass
container?

a. 1 cup 2 cups c. 3 cups d. 4 cups

64.
<;:::> 25 minutes to 9
7 minutes after 8
- C 10 minutes after 8
Y
1 d. 7 o'clock
Ry Y
s
|

-19-




65. What is the weight of the box hanging on the scales?

a. 1 ounce b. 2 ounces \éé:) 3 ounces d. 4 ounces

66. Water freczes at the temperature shown on the thermometer.
what temperature does the thermometer show?

e S —

67. 25 pennics has the same value as

a. 1 nickel b. 1 dime <:E:::h quarter d. 1 dollar

68. This money equals

(DEE
/

ver

a. $1.25 b. $10.15 $1.15 d. §1.05

-20-




69. Which statcment is truc?
a. 12 inches - 1 yard
b. 50 pennies = 1 dollar
c. 1 foot = 8 inches

7\ "o
\QiJ 12 inches = 1 foot

70. 9 inches + 5 inches =

1 foot 4 inches

a.

b. 13 inches

1 foot 2 inches

0

d. 14 feet

Wthh sct of Q¢.shows a ring drawn around JZ of the set,
b, ¢, or d? &

( 5000 (OO O(O;gA
OOQOD O QOO O
OO 9)0 Oogﬁﬂ

4000 + 600 + 90 + 5 =

O [ ] = 4695

[ - o
c. [ ] = 4,000,600,905
d. [ 7] = 4,000,905

7%. In Roman Numcrals, 12 =

a. 11
b. IXX
c. VII

@ X11

21~
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74. XIV is another name for

a. 41 (fb. 14 c. 10 d. 25

T T T T T —n e —
L I T B B e e Mo el o
O I 2 3 4§ 5 6 1 ¥ 9 p a4 12 (3 (¢ 5
This number line shows that:
™
a. )5+ 7 =12
b 12 - 5 =7
C 5+ 8 = 13
d 5+ 10 = 15
76 If 13 + 24 = 37, which of these scntences is not truc ?

oV}
48]
K=Y
+
[
]
i

37
b. 37 - 24 = 13
z c. )24 - 13 = 37

d. 37 - 13 = 24

77. Which model shows 3 X 4 = 12

TN

t O000O0 OOO 0 O

I 00000 o\,\g)
\“
(v <;££§:> Qﬁb

[ﬂ 78. Which of these sets is divided into subscts of 37

R K SX XXX X

?; Cx; ):\_}_(__4))/)_

— b, ?~ ._‘_yfijf_’fﬂ?ffxfb
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79. Which of the Lollohlnu SOLs
] subsets?
i

a.. @ KJVCTD&_:‘)
O @___x“)g_ /)Q )_< / ”7-3(“&/

¢, gf:’}:. XX T DCE 4 XD
ﬁ‘ = - —\q

d. ngxx x\/y yx/)'?)

S s e e ¢

1s divided into 3 equivalent

;
u‘
m

.: 1 . Which problem shows that 18> 6 = 3

(j L /9 o, /8

B -6 -7 0 -3 O

- 2 ::__éO _90 30

b O &
1 ~6.@ ~ 3 ®
N 0 - 7
|
nN 81. Which of the following operations will "undo" 3 X5 =157
o a. 15 - 5
b 15 + 5
|
) o 5 X3

———

-

A




o olo 0 0 O
e e o ojo o O
2. sx ([ 1) =(3x2)+(3x4) ooloooo
From this model, find thec value of
a. | |=2+5
b. =2 + 3
83. 5 X 7=5X(2+5)=(5X2)+ (5X25)-= ) +
a. 15+ 20
b 18 * 25
c. 25+ 25
d. 1+ 10
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Part 11

1. Draw a model of a path (curved line) in the box below.

. oy t
/&“\__’/ L v .
fine 1 ac e

3. Draw a model of a triangle in the box below.

/QWAJ JI:%O’I;UVM-@J
e it wm,u,yaﬁbb .
4. Draw a model of line AB (ﬁg) in the box below.
Label the line.
B 1
< 4 -4 >
ov B A
v‘fé‘ '}141(*1/ j{ﬂ,ﬂ[_, diba Yy 7@1\-;/‘4 tL o) LAl /U JJ%:J/“
s - . :) )
\J’(I_ A '1_% ,Zu‘ ’ /,‘A[,ux'[“t( ' .J,(,\/._.j(_f-&(,' LA~ f/,j A/(Z;.Af-/'.’,ﬂ(%ﬂ{,

o, R
.Il‘ﬂ(kk,

p S

5. Draw a model of a Line scgment AB (AB) in the box below.
Label the line segment.

A
U E\\.{ﬁ

A
The. ,/QM;\,\I.: Mg NS NNY /) ,@/’/Z%MJ ,
) Jg&tzﬁw,amuvLﬁb¢/ailiJLLJvaKQJ&fitAL
Ale Wmf’ WAy ML 2t
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6. Draw a moael of ray AB (A®) in the box below. Label the ray.

v 5 o iy
— ‘Z . .
s 74=:-JEJL£;J&L‘¢M)11LL,JMAJZ 01%F4r¢41%127t64quMU'

7. Draw a model of angle ABC ( 4. ABC) in the box below so
that points A,B an% C are on the angle. Label the angle.

\\::%\ p‘ “hhouy'%” AN .

C tuo ~argdo,

8. Using a compass draw a cixcle. Use point C as the cCenter
and AC as the radius.

The beiik,/wuu0£'JLb
at it &, ot ot A,

06—




Part |11

ADDITION TEST_
Time limit: 2 minutes
(1) 5 (2) 7 (3) g (4) 3 (5) 5 (6) -7
4 6 +7. +3 k&
9 '3 | S A g g
{7) 5 (8) 9Q (%) 7 (10) é () 7 (12)4}
:._i 'ii 10 "qu 't__él_'_ +o_
| O 13 T l W\ \
(13) (14) (15) (16) (17) (18)
3 8 S b 3
r3 +8 11 +3 45 6
\\ \ L \ 2 9 g Ay

(19) vi (20)5 (21) 3 (22) 4_ (23) é (24) 02
49 43 &

ya
ya
?Q
-
- oo
— |
O

27~
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T

foremmen
CITEE

<
=y

(37)

(43)

(26)
1/
_3
A
(32)

SUBTRACLIION 15T

Time limit: 2 minutes

(20) ,
/3 /4 /0 4
-7 -5 -8 -3
s 9 2 s
(33) (34) (35) (36)
/b 6 A /0
_ 7 -0 -4 -6
9 A 2 4
(39) (40) (41) (42)

(45) (46) (47) (48)
3 7

|
®

i
~N

-28-




. MULTIPLICATION TEST

Time 1limit: 2 minutes

(49) 5 60 g (51) g (52) Y (53) 4 (54) -
A2 X4 xb  x§ X9 x4
25  F6 4¢ 32 SY¥ 28

(55) 0 (56) 2 (57) y (58) v (59) 5 (60) __ i
xb XM Xb X1. X9 XZ_
0 § 36 49 45 2/

(61) (62) #_ (63) é (64) a (65) 7 (66) g

(67) (68) © g 70
X2 X6 X9

<oy
S

W
B}

|
|

x

~29-~




DIVISION TEST

Time 1limit: 2 minutes

(74) (75) (76) {78)

(73)
]_Z‘ ’7[7‘{27 lfzi IETY 9x éf?g

(79) ;5,— (80) .j? (81) Zﬁ. (82) (83) d (84)
735 39 A7 A6 32 6118

@ ®) o~ ©) ® @, 0 g
— A - ./ A . —
réq;{

Y4176 35/

(91) i (92) (93) (94) = (95) g (96) €

~ £ o s
324 48 elys  Tws  8le#  Sldo

~30-
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MATHEMATICS CONCEPTS TEST

Basic Test; Level Four

(Grade Four)

ANSWER KEY AND TEACHERS' GUIDE

Description of Test

lters for this mathematics test have been written to assess behovioral objectives
proposed by the Mathematics Curriculum Guide, K - 6. Multiple choice test
items are used where possible. Other behavioral objectives are tested by requiring ;
the student to construct geometric figures. Immediate recall of basic facts is tested :
by four timed tests. A cross reference of objectives from the Curriculum Guide

and items in the test is included with the Teachers' Guide.

Multiple Choice Test ltems

Part | of the test consists cf items which can be machine scored directly from the
IBM 1230 answer sheet. Students mark answers on answer sheets. The test uidmin-
istrator should inform all students to mark each response carefully with a No. 2
black lead pencil. Answer sheets marked with ink or crayon cannot be machine
scored. There should be no extra marks of any type on the answer sheet. Teachers
may want to hand score certain answer sheets. In the process of hand scoring, no
mark should be placed on the answer sheet until machine scoring has been com-
pleted.

Computer Analysis

Computer analysis of test results will develop the following information:

Number of items correct, missed and unanswered for each student,
Percentage score for each student.

Frequency distribution of percentage scores.

Mean score.

Standard deviation.

ltem analysis -~ biserial correlation.

OO AWN —
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Identification of Student Answer Sheets .

Student name and other information on the upper left hand side of the answer sheet
is used for a quick visual identification. However, the computer does not use this
data. In the upper right hand section space is provided to code a student identi-

fication number. Data will be processed by the computer in accordance with this }‘

number. The recommended procedure for assigning student identification numbers
is as follows:

1. Assign each student a different six (6) digit number. If desired the first
digits may be zeros, i. e. 000001, 000002, etc. The test results will be

recorded numerically by this student number.

9. Record the number vertically in the column of boxes, one digit to a box, ;
starting at the top.

3.  Darken in the corresponding digit in the rows to the right of the boxes, one
digit fo a box.

4. The teacher should keep a record of the number she has assigned to each
student so that she can identify the student by that number when the tests
are returned. :

5. Two answer sheets are required for this test. Care should be taken that each
student uses the same number for both answer sheets.

Teacher Scored Subtests

Parts |l and 111 of the test consist of items which must be hand scored. After hand

scoring an answer sheei should be prepared for each student to record the responses.
3 Mark "a" for a correct response and "b" for an incorrect response. For unanswered
questions, place no mark on the answer sheet.

Part Il consists of seven items. Record the responses for this subtest on the first
seven rows of the answer sheet. Part Il consists of ninety=-six items. Record the

responses in rows 8 - 103 for this subtest.

Time Limits For Tests

This test is designed to be a mastery test. Consequently, time limits have been
established which will permit over ninety percent of the students to attempt every
‘tem on the test. Students should be told that there is no penalty for guessing . It
is better to attempt a difficult item than to pass it over.

2=
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Two sittings are recommended for Part 1. The test however, should be administeied .
in one day. Thiswill preclude students checking on difficult items and perhaps §
changing their answers on the answer sheet.

1. Part | 20 Minutes
2. Part ii 20 Minutes f
3. Part |11 8 Minutes

Directions To Students

e o e 4 bR F S WA ann 0 S
RS AL

The student is expected to read the test and make aresponse either on the answer
sheet or in the test booklef. No marks should be made in the test booklet for
Part |. For Parts Il and 11l the answer is written in the booklet. Unknown math-
ematical terms or processes <hould not be explained to students before or during
the test. In Part Il students may be informed that a "model" is @ "picture."
Construction should be done with a straight edge.

Supplies Needed For Testing 13

1.  For Part | each student <hould have two No. 2 pencils, scratch paper, one
test and one answer sheet.

9. For Part Il students will need a compass, a straight edge, pencils and one
test.
3. For Part 111 students will need pencils and one copy of the test.
Norms

District norms will be made available so that student achievement in different
<chools can be compared. Teachers should be more concerned with the item
analysis and cross reference of objectives and test items. A study of test results
for any class will provide insights concerning oreas where more instruction is
needed both for individuals and groups of students.




BASIC TEST: LEVLEL FOUR
A CRUSS REFERENCLE OF OBJECTIVES FROM THE CURRICULUM GUIDE AND ITEMS
IN THE MATHEMATICS COVERAGE TEST
'g CODE: "N" means number strand; '"Nu'' means numeration strand,
,ﬂJ "O'" means operations strand; "G" means geometry strand;
: and, "M" means measurement strand.
{8
‘ i An example: M-4 means the fourth objective under measurement.
|
z ; OBJECTIVE f# ITEM # OBJECTIVE # ITEM #
- N-1 1 0-20 36
. N-244 2 0-21 37
AL N- 5 3 0-22 78
i N-> 4 0-23 .y
T N-7 5 0-24 41,42
|| N-0 [ 0-7% T3
e N-8 7 — T
2 N=O 5 0-27 44,45
i N-T0 9
A N-11 10 G-1 46,47
E N-12 11 G-2 48
i N-14 12 C-4 49
| éi. N-15 13 G5 50
-3 G-2 51-57
3 G-6 58
’ eT Nu-1 14 G-7 79
) LL Nu-2 15 G-8 )
3 Nu-4 16 o) 3T
1 Nu-8 17 Coo 60-80
213 Nu-9 18 G-3 TO-74
'3 Nu-11 10 . ,
‘ ‘ Nu_lz 20 (l'll N(‘
3 M-2 70
. 7 M-3 77
y 0-1 22 M3 78
o) O'Z 2.5 1\1_5 79
f 0-4 24 M-6 30
s fi 0-5 25 M-7 31
13 0-6_ 76,27 g =
f_;r} 0-17 34
: 1 0-18 35




N-13 88

Nu-3 89
Nu-5 90
Nu-6 91
Nu-7 92
Nu-10 93
0-8 94
0-9 95
0-10 956
0-13 97
0-19 98
0-26 99-100

PART I1

OBJECTIVE # ITEM #

G-10 -5
G-12
G-13

S| oY =

Addition Test 0-3
Subtraction Test 0-3
Multiplication Test 0-11
Division Test 0-11

NC means not covered
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MATHEMATICS CONCEPTS TESTS

Basic Test: Level Four

Answer Key




SCORING KEY MATHEMATICS CONCEPTS TEST

Basic Test: Level Four

Part |

1. The sct of Zﬁ&'s in this collecthm1zc&(:) Zﬁg:ZC&has

a. 6 members b. 2 members <::>3 members d. 4 members

Which shows a pair of equivalent sets?

Q% C, {} {cow, horse, dog}
e~ 0
%,C’/§ and cow}

C. {%ow, horse, do%} and {%oé}
%,c,% and %,c}

3. One horse has

a. 8 fect b. 5 fect c. 10 fect (;d.>4 feet

4. Which sct has no members?
a. The set of all students with black hair
b. The set of all birds with wings

(::::>Thc sct of all birds with threc wings

d. The set of all brown haired students in the sixth
grade.

5. The cardinal number of this sct{}z)/A\ M} }’is
¥ |

a. S b.l 4 c. 3 d. fourth




6. A subsct of all Ford automobiles is
<:EE:>}\11 bluc Ford automobiles
b. All Cadillacs
c. All Fords and all Buicks

d. A1l automobiles

7. Which pair of numerals come before and after 19107

a.) 1909, , 1911

b. 1908, , 1909
c. 1911, _ , 1912
d. 1909, , 1910

e < e 8 e S

How many odd numbers are there in set R7?
a. 0 b. 7 c. 3 1"!'} 4

9. Which set of numerals 1is arranged from grcatest to least?
a. 0, 5, 10, 100, 2000
u b. &5, 3, 19, 320, 78

6 c.) 1500, 879, 340, 59, 10

d. 10, 59, 340, 879, 1500

, 10. Which statement is truc?

a. 6 - 2+ 3 L. 5'<:2 + 3 ¢c. 5= (w(éi) 6 >2 + 3

=

e 7 o
paglEs e

.




11. Which model shows f,?— )

12.

a_«_,-'_’:<_/f b."‘

K\
O

\
J

é% :: ci.€% S é?

.....
| —

'g 13. The third objecct in this IOW'<:> f{} | _]is a square.

"Third" 1is

—

a. a cardinal number

| . |
% b./ an ordinal number

iTe ¢. neither cardinal nor ordinal

14. Which 1s not a name {or 127

L] a. 4 X3 b. 2X6 c.5+3+4@14-3

15, Two thousand, four hundred six =

a. 246 b. 2,010 C::;) 2,406 d. 20,4060

16. In the numcral 86,352, the six names

\.v-\ N
- i
. -
WY ity '\ g AN s "
=

a. six million

b. sixty eight

d cyd six thousand
g

d. cighty six

”m G
f v, atd
-~ 3

§§ 7.  This model \\ \\\*\\ \\ \: ‘ shows
o a. b b. 5 d. %
o K3 J & =

t

-10-




18. In 3
()
a. 3 is the denominator
b. 4 is the addend
c. 4 is the numerator
- ~.\ . -
( %;) 4 is the denominator

. o
19. The simplest form (lowest terms) of the fraction ;éz is

/ 5 2 3
ao b- P, ond C. L d. et
<:ji:>e% /0 / 4

20. These models show:

a. 2 o L c. [-L d. 4
= \ I3 [+ 3

21. 3271 rounded to the ncarest hundred is

a. 3270 b. 3200 g c. ) 3300 d. 3000

~11-
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22, Tf 243 + [— ]= 762, then -

N
a. 1005 ( b.) 519 c. 243 d. 762

23, 347 Which of the items below is a check of the
/..Z"/I answer to this problem?

223
a. /2 b. 223 . 347 (d)uuz
~223 - 12Y x/24  T{a243
ol 79 43029 347

24. Which arrangement scems casiest for adding these numbers?
a. 9+ 8+ 1+ 2

b. 8+ 9 4+ 1 + 2

oo
+
N
+
e
+
bt

25. 124 4ur—]= 124 —
.

o]
"
—
o
it

10 c. = 100 =0

26. Solve: (o:g ()/X
p)
— 4 :7\)322’)“”

—————
s e i s et 8 @ % J

R

@[ |= 12,093

~12-




@ = 6,419

b. | }= 5,319

c. [___ = 71,420

d = 6,409
28. 75 - 21 = rM] ,

a. [ |=s0 (Y[ ]-50 - 96 d. = 44
29. 132 + 146 =| I

a. = 287 b. - 178 c. - 288 (d. = 278
30. 45 9 = 5  What symbol placed in the box would make this

statement true?

a. 4 b, — c. X !!!I' -

31. To make this statement true, 42 X = X 42, can be
( a.) any number
b. 1 only

C. zc¢ro only

d. 42 only

32. To make this statement true, 3 X (6 X ) = (3 X 6) X

can be
m any aumber
V
b. 1 only
c. zero only
d. 47 only

-13-




33. Which grouping seems to make this problem easiest to soive?

a. (5X7)X2=70

(7 X 2) X5 =70

j\j
~
(98]
<
NS
<}
~3
[}

70

2 X (55X 7) =170

34, 52+ = 52 X is true for =

a. any number b. 0 only c. 52 only 1 only
N

35. 437 X 0 =

=0 b. [ |= 437 <. =10 d. =1
36. 3 X 123 =
a. (3 X 1)+ (3X2)+ (3X3)
b. ( 3X12) + (3 X 3)
c. 363
(3 X 100) + (3 X 20) + (3 X 3)
37. (40 X 32) + (8 X 32) =l IX 32
a. [ ]= 40 =48 c.[ ]=84 d. [ |=8
38, 250 X 10 =
@ 2,500 b. 25 c. 250 d. 25,000
39. Solve: I/3
X o2 |

77 N\
a. 4573 b. 5473 @4473 d. 4463

~14-




40.

41.

42.

44.

45.

a. 1825 @ 1715 c. 2715 d. 1705

Solve: l5f§l7.~5-

@16 b. 16 r5 c. 15 15 d. 15

Solve: 2/ [(] 90

a. 294 b. 295 r6 c. 285 16 294 v36

These models show that: N \ \\\

il

i

A

A4 2_ L _ 3 , = -
a. L{-“{z’("‘g) e 'f'i—-—;f:— _Lf-"‘_jf@""“‘.’“dd' 1+2’
Find the sum ﬁ 7503
6. 78
+/7.59

@$109.50 b. $99.50 c. $109.52 d. $119.60

Find the difference _ﬁ' /33,00

a. $27.53 b. $28.03 c¢. $20.63 @\ $27.63
J/

Rl




46. The sct of all points in a planc two inches from a given
point is:

a. a two inch square
b. a triangle
('cn> a circle

d. a ray

47. The set of points contained in two Tays with a common
end point 1s

d. a triangle

48. D AN/ 70each of these figures is a

a. a circle
b. diagocnal

c. rectangle

polygon

49. Parallel lines have point{) in common?

<a.)0 b. 1 c. 2 d. many

50. Two intersecting lines have point(s) in common?

a. O /Ts\l c. 2 d. many
(g

«
e Sk

1

-1~
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51. 1In the circle above, point A is

a. a chord b. a diameter c. a radius the cente]

52. In the circle above BC is

a. a diagonal a diameter c. a radius d. the centé

-~

53. In the circlec above AD is

a. a chord b. a diameter (;;) a radius d. the cente

54. In the circle above, EF is

{ a.) a chord b. a diameter c. a radius d. the cent~

55. What is the name of this quadrilateral?

a. triangle<]£;> rectangle C. sguare d. diagonal 3

56. What is thc name of this quadrilatcral?

a. rTectangle ///' ///

» L]
b. %ria» e
-

c. square

P
&:£> parallclogram

"']7:"10".
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57.
Angle ABC 1is

B C

TN . - N
(Zj;) a right angle b. an acute angle c¢c. an

4]
s
~+
n
o

angle d.

eg. 1In this simple closed curve, pointAis:

A

a. 1in the exterior

in the interior

c. parallcl to the curve

d. on the perimcter

59. The areca of this rectangle 1s

-
-
-

1 “f>-"l Unit

a. 14 square units

-
-t
-

b. 15 square units

(' c.) 12 square units

d. 10 square units




MATCITING:  FOR NUMBERS 60 THROUGH 604 MARK THE LETTER OF THE
CORRECT ANSWER

60. < - > a. point D

61. /\/\ b. -path FB
c. ray a,

62. > >
63. P d. 1line - H
64. — ‘ e. linec segment t:

MATCHING: FOR NUMBERS 65 THROUGH 69 MARK THE LETTER OF THE
CORRECT ANSWER

65. a. angle Q_/

66. < ~. b. triangle &)
67. m c. quadrilateral D
N B
68. A (Aﬂ) d. circle E—
\_/
69. .\/7 e. diagonal R

-19-




MATCHING: FOR NUMBERS 70 THROUGIH 74 MARK THE LETTER OF THE
CORRECT ANSWER

—

70. a. cubc
<7/

1

D
71. j?q b. sphere F%
C

72. C. cylinder

73. d. cone

74. <<iii>> e. pyramid I:)

~20-




75. To mcasure the length of this line segment you would use

2 ?] Inch

gt il .
R A porp ko

[ ey

1A . 1

+\~- -
NS

, L LY Pound

76. The area of your desk top could be named in either

1 square fect or square inches

Z_ b. inches or feet
C. pounds or ounces
?g: d. minutes or hours
L 77. The distance to a city 92 miles away correct to the nearest

10 miles could be

fi} a. 100 miles b. 95 miles (;::)90 miles d. 85 miles

e b A : ,
o the ncarcstzr 1nch the length of this book is

~J
(04

! ) 3 4

' T T T

o
-
-
Pttt
=

(o] I
o

P\ e
vy

S _ I ] :
3 ... . S TN — e Q= s .
a. 3 o inc hes b. 3 inches @34 inches d.3‘2 inches
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79. If a triangle is 4 mcters on cach side, its perimcter is
a. 4 meters b. 16 mcters cC. Smeterslz meters

If a rectangle is four inches wide and two inches high
its area 1is

co
<«

)

a. 6 metcrs l+

6;E:> 8 square inches

c. 6 square inches

d. 2 gallons

81. If the space figurc shown here is four units long,
two units wide and two units high, how many cubic units
does it conta‘®n?

= P
=

a. 422 b. 4 ( c.> 16 d. 8

g2. If thisfga is a cup, then to the ncarcst cup how much
liquid is in this glass container?

(D
i
-
ol ) ctf PS
A
)
a. 1 cup <;:) 2 cups c. 3 cups d. 4 cups

-22-
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83.

this is
the Second

g hg/nc/ m

84. What is the wecight of the block shown on the scale?

Al

por e o e e ¢ e ———s -

@ ‘Zipoln‘ds b. 4 pounds c. 3 pounds d. 3;‘% pounds

-23-
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85. This thermometer shows about

T 12° b. 15 c. 10° a. 32°
- 86. 14 ‘inches 1is
i L a. longer than a yard
a8 . longer than a foot

shorter than a foot

d. shorter than a centimeter

L

87. S feet 11 inches
+2 feet 9 inches

'
oo s S " "
AR SATOR T, R G A AN e S S

‘ /
= 8 feet 8 inches
! b. = 3 feet 3 inches

]
"

9 feet

6 feet 20 inches

EM.‘
¥
i

88. Which set of Q) shows a ring drawn around ;§~ of the set,

a, b, ¢, or d. b
ORY) .\f) Q O o O
OR® e () O 7

\O O/ O O {ﬂ \Egg;)

a. b. @ A

-

S  —

e
—

i

24~




89. 78,341 is:

a. Scventy-cight thousand, forty-once

b. Seventy-cight thousand, four hundred thirty-one

(‘ c;j)Sevcnty-eight thousand, three hundred forty-one
L_‘_ g

d. Seventy thousand, threc hundred forty-one

==

90. 50,000 + 9,000 + 800 + 60 + 2 =[] |

a. |

i

509,862

= 50,090,862

oy
P
S
L
]

59,862

ol
r
|
l
L

[}

d. = 5,986

91. The Roman Numeral for 24 is:

a. XIV xx1v c. XXVI d. VIXXX

92. The Arabic Numeral for XXXVI is:

36 b. 34 c. 63 i. AT

93. Which set of fractions is equivalent to éi ?

K raresereen & ¥ emsrnee

4

| L R

.

|

Wastiin )
)
"
6\‘\‘&;
>
\\'\\
\\.
‘ [}
)
*
—

Wawdsal
[ Tan bl -]
(49
N
.
wK\
[ ™
1
e
]
A\ )
LY
-
—

O
N
i~
£~
)~
—

W cadissionh
e
@
KQ ]
\
v
o'~
L1¥]
.
\
N

o NN Y Y Y

A O T T L N T T S R A M M
é : ;. é y 5 ¢ 3 § 9 10 n a2 I3 14 a5 j6 47 4§ 19 25 =1 -

What fact does this number line show?

(ZEE>5 X 4 = 20 b. 2 X 10

]

20 c. 8 + 12 =20 d. 6 X 4 =

‘ :W,,g a L :a e&am:wg

H
=3

2 '—'Cm%
L
N
L‘n




95. Which problem shows that 24 = 8 = 37

@‘Q'l/' : b, 4 e, R
=5 =3 @ -2 @
/ G 21 /2

- © -2 @ -/ & @
g /% 0
g © -z @
"o )&
96. Which of the following true sentences does not describe this
array?
a. 3 X4 =12
X XXX
b. 4 X 3 =12
X XXX

c. 12+3 = 4.

X X X X
“’H&xz =12

97. Which number line shows that 3 X5 =5 X3

- —\\\ Y

a. -t ISR -l --\--—r*gk——~*——1———:>
o : 2 3 & ¢ 7 3 q:o H 02 02 14 U5 147
b e N Y N
- lz : ‘t 71 i1t bt e iy e
S Z) a/7i0 12 (5 1S
N_F 2 \\\-~P,//ﬂ \i\\ wl/p? 1¢ 17

B

c. - B P

y\__;_u—/n 7

DT U N ——}——& = - : b=

\,,/J\‘f /’{\ 3/4 \3 ’/”~M~ /‘{/7" /6 17

o8 yr([T7TTN= (uxt) 4 urzy  eoec |8

From this model, find the valuce of; ]

N0
(o Malle
oNn o
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Part i}

Directions: You are to make several geometric constructions

on this page and on the next page. You should use only
a straight edge, pencil and in some of them, a compass.

1. Construct_a model of a line segment in the space below and
label it AB.

A | B 6 A

s

e -

Oy iéuL,,4L?4n¢w¥ Al Ol 15t1[»24,- adZh o pidbpnd

2. Construct a model of a line in the space below and label it

. Mhe worenr 4apinte. are
A b

. ' ALt ;’
puv 8 A > #

o

Ty

3. Construct a model of a ray in the space below and label it

A

A £ he A" dalal aveind Dw f ke
) - .Q/M‘(igf?(‘{”lvt.?f %; a/}/}'ﬂivf»é_(;({

oV /dudbbﬁlﬂﬂhzﬁyk
/6/

e 4

/A

4. Construct a model of an angle in the space below and

label it /_ABC

A The 25”/nmoML]eAdi/cOf
)zié xékﬂﬁzzﬁﬁ»€z12¢4;b

44%?&&c14A4Z.17L4/L13p4/
e _Fgmed zf’mé

-28-




5. Construct a model of a rectangle in the space below and
label it [__JABCD
l‘

D a Qﬁﬁ%& %ﬁAAA&iﬁfiimajL JUkaiﬁ‘

EA Vs 3

- 3
3 b
3 e
: E:
2.
Il

e 6. Using a compass and a straight edge, construct a triangle
: having sides the same length as the line segments below.
Don't erase your construction marks because they will show

whether or not you made the cornstruction correctly.

3 C tuanale o thee, i

1
s
4
S
s
g
3
3

T TNy

= - 7. Construct a circle with its center at point C and a radius
of AC.
L
§ -
e
7

b
)

i
;.
]
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Part 111

ADDITION TEST

Time limit: 2 minutes

-30-

(1) 5 (2) 7 (3) g (4) 3 (5) 5 (6) 7
cy w6 w1 3 w2+l
q i 1S 6 1 1
M 5 ©® g © ; ao 5 62y
+5 4 0 9. t4 b
ID 13 1 ) I\ | 2
(13) 8 (14) g (15) 5 (16) (o (17)3 (18)9
+3 48 A9 +3 5 46
\\ \bo | 2 Q g |
(19) 7 (20) 7 (1) 3 (22) ). (23) (0 (24) 1)
/AR S A - T .
L 14 12 1 |4 jO




(44)

SUBTRACTION TEST

Time 1limit: 2 minutes

(27) (28) (29) (30)

/2. /4 /0 /4
-7 -5 -f -4
Y 9 2 6
(33) /4 (34) y (35) L (36) /0
-7 -0 -4 -6
9 b 2 4

(39) (40) (41) (42)
% g

'-._:;L —-._£g£
2 ¢

(47) 7 (48) 4
-4 =
309

-31-
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. MULT1PLICATION TEST

Time limit: 2. minutes
(50) (51) (52) (53) (54)

3 4 b 7
X 4 X b X% Xq X4

5
X9
AL b g 32 SY 28

(55) 0 6 5 N ., ) 5 )
xb XH. X X1 Xq_ X7
O 3 A 49 ds oD |
(61) 3 (62) 4 (63) é (64) CQ (65} (66) b,
X9 X3 X0 x&  x6 X1




DIVISION TEST

Time limit: 2 minutes

(73) (74) (75) (76 (7/)

)
g7 aE Al Fﬁi?)f 97T é;ao

(79) (80) (81) (82) (83) (84)
5 / _§
35 37 A7 ale 3 6lrs

~

(85) (86) (87) (88) (89) (90)
/ 5 ¢ ro_ ‘__9
5 /4 9|f'f THO #{36

(91) (92) (93) (94) (95) (96)
1 g < 5
2z AT olEs s ?W 5|40

-33-
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Five
(Grade Five)

ANSWER KEY AND TEACHERS' GUIDE

Description of Test

ltems for this mathematics test have been written to assess behavioral objectives
r.roposed by the Mathematics Curriculum Guide, K-6. Multiple choice test items
are used where possible. Other behavioral objectives are tested by requiring the
student to construct geometric figures. Immediate recall of basic facts if tested by
four timed tesis. A cross reference of objectives from the Curriculum Guide and
items in th= test is included with the teachers® guide.

R R L U e A

Multiple Choice Test ltems

Parts | and 1l of the test consist of items which can be machine scored directly from
the IBM 1230 answer sheets. Students mark answers on answer sheets. The test ad-
ministrator should inform all students to mark each response carefully with a No. 2
black lead pencil. Answer sheets marked with ink or crayon cannot be machine
scored. There should be no extra marks of any type on the answer sheets. In the
process of hand scoring, no mark should be placed on the answer sheets until machine
scoring has been completed. ‘

Computer Analysis

Computer analysis of test results will develop the following information:

Number of items correct, missed, and unanswered for each student.
Percentage score for each student.

Frequency distribution of percentage scores.

Mean score.

Standard deviation.

Item analysis--biserial correlation.

OGO hHhWN —
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Identification of Student Answer Sheets

Sjudent name and other information on the upper left hand side of the answer sheet
is used for a quick visual identification. However, the computer does not use this
data. In the upper right hand section, space is provided to code a student identi-
fication number. Data will be processed by the computer in accordance with this
number. The recommended procedure for assigning student identification numbers

is as follows:

1.  Assign each student a different six (6) digit number. [f desired the first digits
may be zeros, i. e., 000001, 000002, etc. The test results will be recorded

numerically by this student number.

2. Record the number vertically in the column of boxes, one digit to a box,
starting at the top.

3. Darken in the corresponding digit in the rows io the right of the boxes, one
digit to a box.

4. The teacher should keep a record of the number she has assigned to each
student so that she can identify the student by that number when the tests

are retumed.

5.  Three answer sheets are required for this test. Care should be taken that each
student uses the same number for all answer sheets.

6.  Use one answer sheet for Part | (77 items) anu another answer sheet for Part
it (65 items).

7.  Responses to Part lll are recorded on the second answer sheet. A third answer
sheet must be prepared for Part IV,

Teacher Scored Subtests

Parts Il and IV of the test consist of items which must be hand scored by the teacher.
After scoring, responses are recorded on answer sheets by the teacher.

Part 11! consists of eight items. Record the responses for this subtest on the second
answer sheet. Mark "a" for a correct response and "b" for an incorrect response.
For unanswered questions place no mark on the answer sheet. Mark answers begin-
ning with row 73 in Section B. *Note, Part 11 consists of 65 items. Therefore,
rows 66-72 in Section A of the answer theet are left blank.

Part IV consists of 104 items. After hand :.coring, record the responses on a third
answer sheet. Mark "a" for correct, "b" for incorrect and leave blank for unan-
swered questions.

-2-




Time Limits for Tesis

This test is designed to be a mastery test. Consequently time limits have been
established which will perm:t over ninety percent of the students to attempt every

| ] ‘tem on the fest. Students shouid be told that there is no penalty for guessing. It
'; is hetter to attempt a difficult item than fo pass it over.
.
i Administration in three siftings is recommended.
j“ First Sitting Part | 70 minutes
o Second Sitting Part 11 45 minutes
}‘ E Third Sitting Part 111 20 minutes
- Third Sitting Part IV 11 minutes

L-...,,
S
nay ey, b
o)

Directions to Students

il The student is expected to read the fest and make o response either on the answer
sheet or in the fest hooklet. No marks chould be made in the test booklets for Paris
A | and Il. For Parts 1! and IV the answer is written in the booklet. Unknown math-
s - ematical terms or processes should not be explained to students before or during the
test. In Part Ill students may be informed that a "modei" is a “picture.” Construc-

B tion should be done with a straight edge.

0 A
]

Supplias Needed for Testing

1. For Parts | and 1l each student should have two No. 2 pencils, scratch paper
and test and one answer sheet.

[L‘ 2. For Part 11l students will need a compass and a straight edge, pencils, and
one fest.

Eor Part IV students will need pencils and copies of the tests.

SRR PRI PR -,
- > Lofpe p ool )
' .
e S b 1 i
E el
operit 3 Eors
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| Norms

T
; E@ District norms will be made available so that student achievement in ditferent
— schools can be compared. Teachers should be more concermned with the item

= analysis and cross reference of objectives ar. st items. A study of test results
s L;‘i for any class will provide insights concerning areas where more instruction is
needed both for individuals and groups of students.
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= GRADE FIVE

A CROSS REFERENCE OF OBJECTIVES FROM THE CLARK COUNTY CURRICULUM
GUIDE AND ITEMS IN THE MATHEMATICS COVERAGE TEST

B CODE: ''N" means number strand; 'Nu' means numeration strand,
= & "Q" means operations strand; "G'" means geometry strand;
‘ ﬂi and, "M" means measurement strand.

, ; An example: M-4 mecans objective #4 in the measuremcat strand.
i_'a OBJECTIVE # I'TEM # OBJECTIVLE # ITEM #
2 3 N-1 1 0- )
F ] N-3 3 0-4 38
. N-4 4 0-5 39
o N-5 5 0-6§7 40,42
1 3‘ N-6 6 0-7§23 43
. N-7 7 0-7 Ax
E ] N-B 8 0-8 45
. 7 N-9 9 0-9 46
S N-10 10 0-10 47
i N-11 11 0-12 48
N-12 12 0-15 49
; N-13 13 0-13 50
2 0-14 51
. .3 0-16 52
2T Nu-1 14 0-17 53
n Nu-2 15 0- 1% 5T
Nu-3 NC 0-19 55
- Nu-4 16 0-20 56
sl Nu-5 17 0-21 57
, Nu-6 . 18 0-22 NC
Nu-7 19 0-23 58
Nu- 8 20 0-24 59
Ej Nu-9 21 0-25 60
i Nu-10 22 0-26 61
. Nu-11 23 0-27 62,03
Nu-12 24 0-78 63
4 Nu-13 25 0-29 NC
Nu- 14 20 0-30 65
1 l} Nu-15 27 0-31 00
E Nu-10 2 0-32 07
- Nu-17 29 0-33 . NC
Ny Nu-18 30 0-34 68
: [E Nu-19 31 0-35 09
E Nu- 20 32 0-30 70
k3 Nu- 21 33 0-37
Eﬁ Nu-22 37 0-38 32’72
Nu-23 11 0-39 74




0-41 76,77
PART 11
OBJECTIVE # ITEM # OBJECTIVE # ITEM #
M-1 1-7 G-14 1,2
M-2§13 9 G-13,14,15 3-5
M-3 10 G-16 6,7
M-15 10-13 G-17 8
M-5 14
M-0 NC
M-7 15,10
M-8,9,3 17
M-10 18
M-11 19
M-12&4 20
-13 21 NC means not covered
M-14 2
M-15 23
M-16 24,25
G-1 26,27
G-2 28-30
G-1 31,32
G-13 33
G-2 34-42
G-2643 §35-47
G-4 8-55
(=5 50"
G=06 57,58
1177 ) 59
G-8 00
(-9 01
G-11 02
G-12 03,04
G-10 05
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] Part |
: 3 1. Which of the Venn diagrams below shows the relationship

of whole numbers to rational numbers?

Set A = the whole numbers
Set B = the rational numbers
5 2) b) o —— @

Onp || (& @

= A )

= 3 2. Which of the following scts is infinite?

The set of all forids.

AL RO (% .

a)
(:} The sct of all counting numbers.

E 5 c) The set of all Sth grade boys.

d) The sct of all two-headed dogs.

3. The cardinal number of this set 1s

(N4 60, 10}
a) S by 10 c) 7 @ 6

4. Which pair of numcrals come before and after 16,7107

C}lmmm o, 16,71

f b) 16,700, ' , 16,702
§ ¢) 16,712, , 16,713
; d) 16,700, , 16,720

04 a————— t —————— fu e o " S St SA— et

:

1

A -8~
:

:
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5. R = {}2, o, 8, 7, 25, 2, 16, 1%}

N g . . .
g The subsect of odd numbcrs in sct R 1s

¢

a) {12, 8, 2, 1¢

€ %;, 7, 25, 15
c) {12, 9, 8, 16, 1%»
~rm§ d) {?, 8, 7, 25, %}
} 1 6. Having a million dollars in one bank is the same as having
(:) A thousand dollars in each of a thousand banks.
b) A hundred collars in each of a thousand banks.

c) A thousand dollars in each of a hundred banks.

d) A hundred dollars 1in each of a hundred banks.

7. Which number is a prime number?

a) 26 b) 39 <:) 47 d) 49

8. Which sct of numerals is arranged from greatest to least?

a) {é, 5, 65, 900, 100%}
b) <1600, 1400, 900, 1010, 86{}

© {2200, 2165, 2075, 1967, 182;}

N d) {%, 10, 20, 70, gé}
‘— 9. Which sign makes the statement truc? A0 < 50 25=5
- .

e < b) > ) = ) =

10. What is the ratic of squarcs to triangles?

. | A A A
| sEaRSERES
a) jfi 0 é;i o) & d)

W
v
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La\; 11. Give the whole number for this sct nf equivalent fractions.
B 1k 32 4o o, . }

- (2 2 T4 5

a) S @ 8 c) 16 d ¢4

12. A class is composed of 10 girls and 20 boys. Which of
the following statemonts is false?

1

i a) The ratio of boys to girls is Z to I.
2 .
b) 3 of the class is boys.
E c) The ratio of girls to boys can be written 1:2.

b3 él) .—g of the ciass is girls.

13. M o t *a '3
B e B i el ¢———o * ¢ R
3 The arrow indicates what number on the nunber line?
i a) "1 b) *t2 @ -2 d) 3
[
g 14. which of the following is NOT a name for the number b7o ?
. B
b @ (2 + 3+ .7) b) ¢l c) 6.7 d) (6 + .7)
) 10
¥ 15. Another name for the numeral three million, nine
3 thousand, five is
a) 3,900,500 b) 390,005 @3,009,005 d) 3,090,050
| 16. Another name for the numeral 467,304 1s
@ four hundred sixty-seven thousand, three hundred tour.
;‘.i b) four million, sixty-scven thousand, three hundred four.
ii u} ¢) forty-six thousund, scven hundred thivty-four.
§ dj four hundred sixty-scven thousand, thirty-{four.
iZ 17. 1n the nuneral 1,398,671 the digit nine is in the
. a) hundreds place

b) milliong place

c) hundred thousands place
(:> ten thousands' place

]
{
!
:
g
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18. In the numcral below, the digits in period 3 tell  the
nunther of

6 71, 49 2, 871
Pervicd 3 fucigd X Fe.rfa‘-fl

a) billions
(E? millions
¢) thousands

d) ones

19. Which is another name for the numeral 298,4617
Ca) (2x300,000)+(9x10,000)+(8x1000)+(4x100)+(6x10)+(1x1)
b) (2x10,000)+(9x1000)+(8x100)+{4x10)+(1x1)
c) (2x100, 000)+(7\10 000)+(8x10060)+(4x100)+(6x10)+(1x1)
d) (2x1,000,000)+(9x100,000)+(8x10,000)+(4x1000)+(6x100)+ (1\10w
20. Which . of the following is another name for the numecral
473,601,9867
. a) (473x106,000)+(601x100)+(986x10)
b) (473x10,000,000)+(601x10,000)+(986x1)
(©) (473x1,000,000)+(601x1000)+(986x1)
d) (473x10,000)+(601x1,000)+(986x10)

21. Which ol the following shows the number 60 as a product of
prime numbers?

<:> 2 X 2 x 3 x5

b) 4 x X 3

[¥a)

wi
~
wi
~<
sl

¢) 2 x 2 x .

d) L)- X £ X

8y




22. The Roman numeral name for the basc ten number 264 1s:

a) LXIV

@ CCLXIV

c) CLXIV
d) CCLXVI

2%. The basc ten name for the Roman numeral CXI 1is:

a) 61 b) 101 @ 111 d) 109

24. Given a Roman numecral XXX and a basc ten numeral 333:

@ XXX

b) 333 = 3 + 3 + 3

10 + 10 + 10

c) Each "X'" has a different value depending on its
place in the numeral

d) The two numerals name the same number

25. The base five numeral for the following set of dots is:

@ 2five b) l4pjve ©) 335 d) 30fjive
26. This model [ jij%ﬁﬁ?;%;kj/;' shows:
/ /L///l e //;/ /-/,J

3 %

Wlo

27. In the fraction
a) 3 is the denominator
b) 5§ is the addend

¢) 5 is the numerator
@ 5 is the denominator

~12-




28.

29.

30.

34.

Which is not another name for the fraction—z ?

g
/4. 23 : 29 35
a) L 2 c) S5 d) ==
/6 O Z: =2 4.0
: . . n - . 5 .
The simplest form (lowest terms) of the fraction g;; is:
/ 3
a) .,CZ b) =~ c) < @ =
3 2 S 3 %
The missing numerator in the following arithmetic sentence
_ 7 .34 .
@ 8 b) 16 c) 12 d) 24
Anoiher name for the fraction {%fis:
/3 -"l?f _\_3 ) :_é-
a) & @ 33 ) 43 ) 0=
The decimal numeral for the ffactionj-—é—l'-—[—iS'
' ' j000 "
a) .814 b) 8.14 @ 8.014 d) 8.0014

The expanded numeral for the numeral 23.74 1S:
- /

@ (Zx10)+(ox1)+(7x7!0—)+(4x77,-0—‘)

b) (23x10)+(7x1)+(4x 75
- I

c) (2x10)+(3x])+(7x752‘7)+(4x/~3 )

d) (2x1000)+(3x100)+(7x10)+(4x1)

Which answer lists the correct order of the types of numerals .
in the following sct?

1 A 'Q}
{32 01197,) ~3

a) decimal f{raction, common fraction, mixed numeral
b) common fraction, decimal fraction, mixed numcral
(:) common fraction, mixced numeral, decimal fraction

d) mixed numeral, common fraction, decimal fraction

-13-
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35, If + 567 = 1142, then =
a) 675 b) 1709 c) 685 @ 575
36. If — 2456 = 3798, then =
a) 1342 (:) 6254 ¢) 5144 d) 5257
37, 3095 wWhich of the items below should be used *o check
-1843 the answer to this problem?
1252
a) 1843 ©® 1843 c) 3095 d) 1252
-1252 +1252 +1252 -1843

38. Which arrangement sccms casiest for adding these numbers?
(5) (17 + 3) + (6 ¢ 4)
b) (17 + 6) + (3 + 4)
c) (6 + 3) + (17 + 4)
d) (4 + 3) + (6 + 17)

39. 4635 + = 4635 — To make this statement true,
can bc:
a) any numbrr b) 1 only c) 4635 (:) 0 only
40. 638,215,079
+ 25,310,912

(@) 663,592,021

b) 612,898,137
c) 653,581,911

d) 653,592,121

41. The numeral 14.36 rounded to the ncarest tenth 1is

a) 15. b) 14.535 c) 14.3 < dD 14.4

~14-




42. 900,389,400
- 9,230,099

S a) 909,619,499

B -
D b) 901,159,301
X (c) 891,159,301
f ] d) 801,159,311

E 43. 246 29 = 275 What symbol placed in the box would make

r this statement true?
It ;, a
|3 @ + b) - c) x d) +
L3
P

44 . 1832 1802

30 What symbol placed in the box would make
this statement true?

a) + (:) - c) X d) =

45. "ZCX Which of the sentences below is not
(:)’( - related to this multiplication equation?

o

'\i a) x O=A
i | b) A\ + =
. @QO+0=A

3 d) A‘__:__ O:

46. Which equation has the same solution as x 48 = 240
. a) 240 - 48 =
| b) 240 x 48 =
@ 205 48 -
4 d) 48+ 240 = [
/) 47 . 416 Which of the items below should be used to check
9 p74 the answer to this problem?
) @ 116 b) 416 c) 3744 d) 3744
x 9 + 9 + 4106 - 416

.
"» ' -]5"




48. Which form makes 1463 x 468 = | | easiest to compute?

; a) 468 1463
' x1463 x 468

49. 6000 x 50 =

g T A B P Ry AT

|- ; aj 3000 b) 30,000 (:) 300,000 d) 3,000,000
50. 218 Which of the items below could be used to check
3 x306 the answer to this problem?
1 1308
< 65400
i 66,708
A (:) 306 b) 306 c) 65,400 d) 66,708
1 X218 =218 _*__ 306 -65,400

51. Which grouping seems to make this problem easiest to solve?

@67x(25x4)

b) (67 x 25) x 4

Vs b averem o
»

|

c) (67 x 4) x 25

d) (4 x 67) x 25

A — T ) YT AP e
- N

52. 376+ = 376 x To make this statement true,

‘% can bhe
a) any number (3;» 1 only c) 0 oaly d) 376
¥

53. 0 = 4890 x
; a) = 4890 b) = 48,900 (c) =0 d) = 10
54. Which problem connotf be solved?
1 a) 0+ 4  b)4 tog {(:) 4+ 0 )1 =1

-16-




l ; a} [i}: 10 b) = 3 (c? = 20 d)[:] = 23

g 56 9073

T x 286

C (:) 2,594,878

g b) 9359

- c) 2,579,268

- d) 145,168

e 57. 46 [36.530

£

. a) 801 b) 799 r72 (:) 800 r36 d) 900 r36
i

;, ] 58. 23 [:]23 = 529 What symbol placed in the box would make
f, - this statement true?

f"? .

| a) + D - @ 0

i‘.; 59. Find the average of this set of numbers. {68, 82, 9%}
P 79 82

o d <:> 81 b) c) d) 88

R

% . 60. Give the greatest common factor of this set of numbers.

. {z, 12, 1%}
b 3

9 a) 6 (:} 3 c) 36 d) 24

61. Give the lcast common multiple of this set of numbers.

b 1)
2 b) 8 c) 12 C:> 24

a)

Z e R R LI Y SR R U T ) . . - 3
g e ey 5 o A e o Pt o " o YT
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b
r
!

62.

63.

64.

(=}
v
[ ]

07.

The shaded part of these models show that

Which equation has the same solution as 4,21 - é;
a) 34 L= ‘r—] !
y 5 -
@%-7 =
S
A _Z =
d) 7. 3 =
s ' 4
@t = 4‘5: , is true for equal to

@ any nuinher b} 1 only ¢) 0 only d) never true

{f__L + 43 . - . . .
2t )+;n **( .J) 1s true for cqual to:

(:) any numbcer b) 1 only c) 0 only d) never true

Which grouping scems to make this problem easiest to solve?

")(;’ ! j") 1 “"'f: =
b) i} 'f'('f;;"'+’:,i =
Q) (4 +2) T g =

-18-




14 & =
68. 15 r5
> 20 3 3.
2) 175 b) 7% <) F 15
9 3.4 =
69. ',; + A
L b) L d d) #
@ 12 ) /10 c) 12 )'Z:-
/3
70- /’2 /5!
+ 7 i/z_
2 Z 144
2 19l @205 o 177 d) 0320
19
71' 4.2&.4 +5. L/l/' =
a) 26,744 P) &C. @ 29. 84 d) 30, 0¢
72' *55‘-{5\’,05 -
2 f3.95 Basos (QPaass D2
0, — d
73. .This number line shows that: .« AT NN, ' —>
o, L. _3 e 4 A 3 &
a) ;;‘_)( y = ;L y Y m g i
FX T = =2
® sx3 ;
C -
Yixy =3
2y 4o - Ll
) 3x G T
74. Which equation has the same solution as ‘5—: :'———/ =
45" 8

a) [:I-r;}' =

b __'__.-’ _»5_. - [
) § " 43 u
c) 2 5 -t
[ 4 ;' :85
X ¥ =7
O0x7 =5

-19-
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oL X -
75. v?

L. & 3
a) g b) /15 @ L5 4)
76. $6.28
X 36
a) $22.60 (:) §226.08 c) $222.68 d)

77. 47 [$9.87
(E;,s.ZJ b) $2.10 ¢) $2.01 a3

-20-
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4.

5.

Part i

e

Mu(y bO(l:.‘,ilt material Cor a new dress b)' the e
a) pound b) miles C) ounce @yard
The distance from New York to Las Vegas is measured 1in
a) pounds miles c) ounces d) yards
Perfume is sold by the .
a) pound b) miles (c) ounce d) yard
The butcher sells mcat by the ) .
@ pound b) miles c) ounce d) yard
We measure speed with a .
a) rulcer (:) spceedolicter  c¢) miles d) clock
Time is mcasured with a .
a) ruler b) specedometer <c) miles <:> clock
The area of your desk can be measured in -
a) feet b) inches (:) square inches ) cubic inches
Mr., Smith drives lhis car at an average speed of 40 M.P.H.
How far docs he go in 5 hours? :
a) 30 miles b)) 141 miles (:) 200 miles d) 8 miles
11 iv colder when the tewperature 1s o .

@ 30° F. b) 307 C.

-21-
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10. To

the ncarcst pound 19 lbs, 7 oz.
(E) 19 1bs  b)
4 11.

c) 26 1bs
inches 1s:

is
20 1bs

P

shorter than ﬁ_a vard
b) longer than a yard

of a yard

@
RS

of a yard
12.

A boy 49 inches tall is:
a)shorter

than a yardstick
b) about onc rod

(:} closc to four feet
] ' d) too tall to measure
é 15. A meter stick is:
‘ (:’ longer than a yard stick
b) about 12 inches long
c) 4 millimeters

d) i; of a foot

14. Grandfather's garden is 60 feet long and 28 fect wide.
1 The perimeter of his garden is
N a) 50 feot
‘; @ 176 fect 28 11,
| (0f1,
] c) 99 fcct
xE d) 1680 square feet
”2 15. The area
; "

area of grandfather's garden is

(See item #14 above)

a) 216 squarc ft. b) 680 square ft.@ 1680 square fecet

-22-




16.  The rectangle has a base of 36 inches and an altitude of

6 fect. What is the area?

a)

©

c)

84 square fect
18 square fect bt

216 square feet
36 in

17. A gallon is 231 cubic inches. The container shown here
will .

S .
@ hold nmore than a gallon Z_ /C-_.-

b) hold less than a gallon

c) hold cxactly one gallon l0in,} =~ //}
3

18. If

i

in,

3[:1._
the time in Las Vegas is 10 a.m., what time is it in

New Yorlk?

a)

1 a.m. @ 1 p.m. c) 7 a.m. d) 7 p.m.

19. The Brooklyn Bridge was completed in 1583. What century
was this?

a)

20. To
on

aj

d)

17th Century b) 18th Century (:) 19th Century

the ncarest pound what is the weight of the package
the scale? )
9 b Cq 7

7 ', 1bs

7 1lbs.

0 ' 1bs,

0 1bs,

T = e e s
' (%)
.

-2%




21, To the necarest 5 degrees, the thermometer shows what
temperature?

30—
i 20° 20"
i b) 10° /16— 3
3 -~ O
2 .0
c) 25 _,‘/0"’_..L
a) 15 ’

22. The picture shows a protractor that is placed on an angle.
How many degreecs does the angle measure”

.t 3.) 45

23. 100 inches is equal to .

a) 6 fect
b) 3 yards
(:) 2 yards, 2 feet, 4 inches

3

d) 4 yards, 4 inches

24. 3 hburs 40 minutes 30 scconds
+2 hours 20 minutes 40 scconds

a) 6 hhr. 10 min. 20 scc.

3 (:) 6 hr. Il min., 10 scc.

c) 5 hr. ol min.

d) 6 hr. 10 min. 10 scc.

-24-




25. 2 gallons 5 quarts
X S5

a) 15 gallons

b) 17 gallons 1 quart

wu

c) 11 gallons

(:) 13 gallons 3 quarts

quarts

GEOMETRY

Mr. Point! Poor Point! lle has a placc to be. But no
size and shape. There's no point to sec.

26. Which of the following sentences is frue?
a) A point is a mark made by a pencil.
@ A point is a location.

c) You can see a point.
d) A point is a very small mark.

27. Every Geometric figure is a set of

a) circles (:) points c) triangles

28. This is a drowing of a

< - D

a) ray b) linc scgmcnt@ line

29. This is a drawing of a

» — - —

a) point (5) line segment c) line

~25-




30.

31.

32.

33.

34.

35.

36.

This is the correct way to draw a picture of a

4

< >

a) line scygument (:> ray c) line

The set of points contained in two rays with a comnon
endpoint is '

a)acircle blatriangle (:) an angle

The common endpoint of the two rays forming an angle is the

a) center (:) vertex c) side

When angles have equal measure they are
L)

a) infinite b) parallel <:> congruent

In this drawing of an angle the vertex is at point

a/

L’/’/&/?
C
B
a) A @ B c) C
The figure on the right is a
a) rnombus
(E) triangie
c) octagon
d) hexagon ’
The figure on the right is a

a) rhombus

b) triangle !

@ octagon ’

d) hexagon ,

~26~




37. The figurc on the right is a (an):
a) thombus B
b) triangle

Cc) octagon
(:; hexagon

38. The figure on the right is a (an):

(:) rthombus

b) triangle
c) octagon

d) hexagon

39. The figure on the right is a (an):

macemevem S
\{
\ .
(1 I .«
AT R . R84 ooy oy ~ - a0
)

a) Octagon

(:) rectangle

c) hexagon

i

d) pentagon

40. The figure on the right is a (an):

e e e T e —————— e —
. <
'
v

a) octagon
b) rcctangle

¢) hexagou

E) pentagon

41. The figure on the right is a (an):

a) octugon
b) rectangle

c) hexagon

(:) paralleclagram

=27~




42. Which onc of the four [(isures is a right triangle?

a) 1 "~

b) 2
© s -~ .
i a 3 Y
d) 4
D
C - B
A
43. In the circle above point A is the .
a) chord b) radius /E).center
. W
44. In the circle above AD is a
(u) radius b) diagonal ¢) diameter
45. In the circle above BC is _ .
a) the center b) a radius @ a diameter
46. In thc circle above CD is a .
(E) chord b) diamcter c) radius

47.  I{ you latd a picce of string along the circle above,

the length of the string would reasurce the
of the circle.

a) arca b) diamecter (:) circumference

48.  The figure on the right is a:
a) cylinder

b) cube

c) cone

@ hemisphere

-28-




49.

50.

Si.

S2.

53.

- ¥

The figurc at the tight 1is a:
C:) cylinder

b) cube

c) cone

d) hemisphere

The figure on the right is a:
a) cylinder
b) cube

(:) cone

d) hemisphere

The figure on the right is a:

a) cylindcf

et

@ cube

c) cone

d) hecmisphere

The figurce on the right is a:
a) rectangular prism
b) triangnlur prism

@ sphere

d) pyramid

The figurec on the right is a:
@ rectangular prism
b) triangular prism
c) sphere

d) pyramid

e N s v




34.  The figure on the right is a:
a) rectungular prisn

b) triangular prism

c) sphere
@ pyramid

55. The figure on the right is a:

a) rectangular prism
<:> triangular prism
c) sphere

d) pyramid

5. Which of the following is an example of  parallel line
scgments p

a) the cornrer of a room
b) two strects that mcet at a stoplight

(:) The long edges of a 12 inch ruler

37. Which of the following is an example of line segments that
interscct?

a) railroad tracks
b) two power line wires strung from one pele to the next

<:) the top cdge and the

U

ide edge of a door

58, Two intersecting lines have point(s) in common .

— o m— - - -

a) 0 @ 1 ' c) 2 d) an inlinite number ~f

59. Which of the rol lowing is an example of perpendicular 1ine seguont
a) railrouad tracks
W e 2
(:) the letter [

c) line segments that form an acute angle

~30-




T B e e

60.

61.

62.

63.

.

i

A & B
/\ ABC is equal to .
b) 5% ¢&"'x 7"

The perimeter of

@ 5 +6 +7"

{ X L)l' x5u

C);L;f

any polygon can be found by .

The perimecter of

length of one side and multiplying

a) measuring the
of sides

by the number

C:) measuring the

c) measuring the

length of each side and adding the lengths

lengths of each side and finding the average

The area of £/ ACDE is .
a) 30 square inches E - D
0\(\ ‘7 n,
CE) 24 square inches //éy/ 4in.
c) 12 squarc inches 3
) 12 54 c A 8 c

The volume of the following figure in unit cubes is

= 1 unit cube,

a) 10 ([ /S
@ 12 /1
c) 8 ’“//V)
d) 6

-31-




64. Find the volume of this box in unit cubes.

= 1 unit cube

b) 100 /

G 120 . \//
d) 144 N1
N
N
vd

.
NS
~
65. The area of [/\ABC is square units.

= 1 square unit

a) 6 ® s c) 10 dy 12

-32-




‘ Part 1

%i Dirvections: You are to make several geometric constructions
N on this and the next page. You should use only a straight
5 3 edge, pencil, and in some cases, a compass. Do not erase
i3 the marks that you make on the paper as you do the

4 constructing. These marks show whether or not you did

; 5 the construction correctly. No construction marks are
. needed for items 1, 2, and 8.

1. Construct a model of a line below and label it with two
points A and B

8 A 4
) ' ¢ B A

2. Construct a model of a ray below and label it with two
points A and B.

P
N

B 2

4 |
X ——8
ks : ) A ﬂ
L /

MV A A

3. Construct a linc segment in the box that is congruent

j to AB.
‘ A B
‘ > -0

*
—

4. Construct an angle in the boex that is congruent to /£ ABC.

‘5{,

/\

, .
E ()
b -
\‘:

33-




gle in the box that is congruent tg

5. Construct a trian
abel the points A, B, and C on your triangle.

D ABC and then 1

(.
C '/(" S RO ) VPR
ded.a‘.., Vi
“"/{ S oaneds A4
ﬁs B-dﬁ‘d (‘(}“,wl ﬂ—-’ C;} :/‘T 4 ( ) b
. -
6. Biscct AB below. — ~= ) E
A B
]
i
{
]
A | B
|
i
. ! L, :
7. Bisect the angle below. SlAL R RS S
C
’4 ‘1—5—*‘—"- - —— —— o 8"“

construct a circle that has its

8. Using only a compass,
us congruert to the one shown.

center at C and a radi
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Part IV

time limit:

ADDITION AND SUBTRACTION TEST

@ g @ 7 @ g
/. 16 45
s 13 /3

eJ. +7 +1

// /2 ]2

(1) ;g (5) 1/ (6 g
=8 -6 =3

()\
~0

{20) /3 (21) /0 -{22) /4
=4 =/ fattol
9 F 9

~35-

5) g © 4
14 th
/3 /2

¢, 2 9
£ 9 +§

4 /0
(17} /9 (18) /5
-9 -7
g g

> minutces
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Al T e

Time limit: 4 minutes

MULTIPLICATION TEST
25) 5 ()9 (@7g (28 7 29) ¥ G0 & @GN 7@ O
x5 x4 xb xp_ xX§ X7 X4 X6

725 FL Jf o 2 S¥ X 0

(33) 34)@ (35) 7 (36) 5(37) 5 (38)

X7 X7

Lo Dot g L

At
gc#?%o 27 /Y

(41) & (42) ¢ (43),, (44) 2 (5)5(46) G (7)) 7 48) 4
X3 XI X3 xE x&. Xl Kb XS

Wﬂm‘

o dp 6 Je 70 /€ 42 F0

W) § o) (N7 () g 6 7 6 g e B9y
A7 XS xm_ ox Xl x4 X3, X

57 G (5 s g g 6D @z @) 6)g
297 %7 x¥ X3 x4 x5 x4 X6

/5 o sY

~36-




_ (74)

Time limit: 4 minutes

DIVISION TEST

(66) W f_f (67) ..‘)’l—_g (68) ?Tg
| R 2 s
(70) 5 @_% ™ L F (72) IO
3 &

Lf I-g.z.lé (75) 2 '7 ) (76). g B»« ‘/7[

(78) (79) (80)

214 7121 7

g
[7:2
(82) 3 [55- (83) 3 é—- (84) . ql’???

(86) pA (87) =4 (88) .

307 57TE 713 ¢
-y [3;3? sz P 706 Z
(94) g @.75_ (95) P fﬁ; O UZZ
' 7
; 2™ lff{' T, 'I’?{ 00 o574
j (102) 3 l'z? (103) Lil rg{ (104) L {3&
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Six
(Grade 6)

ANSWER RI'Y AMND TEACHERS' GUIDE

Description of Test

ltems for this mathematics test have been written fo assess behavioral objectives
proposed by the Mathematics Cuniculum Guide, K-6. Multiple choice test items
are used where possible. Other Lehavioial objectives are tested by requiring the
student fo construct geometric figures. Immediate recall of basic facts is tested by
four timed tests. A cross reference of objectives from the Curriculum Guide and
items in the test is included wiili the Teachers' Guide .

"’

Multiple Choice Test lters

Parts | and 11 of the test consist of items which can be machine scored directly from
the IBM 1230 answer sheet. Students mark answers on answer sheets. The test ad-
ministrator should inform all students to mark each response carefully with a No. 2
black lead pencil. Answer sheets marked with ink or crayon cannot be machine
scored. There should be no exira marks of any type on the answer sheet. Teachers
may want to hand score cerlain answer sheets. In the process of hand scoring, no
mark shouid be placed on the answer sheet until machine scoring has been completed.

Computer Analysis

Computer analysis of test results will develop the following information:

1. Number of items correci, missed, and unanswered for each student.
2. Percentage score for each student.

3. Frequency disiribution of percentage scores.

4, Mean score.

5. Standard devialion.

6.

Hem anatysise biseial Conelelion.




i3 Identification of Student Answer Sheets

Student name and other informiion on the upper left hand side of the answer sheet
is used for a quick visual identification. However, the computer does not use this
iB data. In the upper right hand section space is provided to code a student identifi-
{ N cation number. Data wiil be processed by the computer in accordance with this
number. The recommended procedure for assigring student identi fication numbers

A R R w2

‘ ‘ is as follows:

3 1. Assign each student a different six (6) digit number. If desired the first digits
3 may be zeros, i.e., 000001, 000002, etc. The test results will be recorded

numerically by this student number.

2. Record the number vertically in the column of boxes, one digit to a box,
starting at the top.

B O e e L

3. Darken in the comesponding digil in the rows to the right of the boxes, one

k]

digit to a box.

o)

4. 1he teaches should Leep arecord ol the number she has assigned to each

student so that she can identily the student by that number when the tests

are relgined.

e Ao iy
Y i<

5. Three: miswen sheeis aie requited tor this test. Care should be taken that
each student wses the same numbes for both answer sheets.

: 6. Use one answer sheet for Part | (1G2 items) and another answer sheet for
3 Part 11 {61 items].

€ rintr R L Y Pt AT
AL,

7. Responses to Part 11l are recorded on the second answer sheet. A third
answer sheet must be prepared for Part V.

QAR 28

Teacher Scoied Subtests

Paris 11 and 1V of the lesi consist of items which must be hand scored by the
teacher. Alier scoring, responses are recorded on answer sheets by the teacher.

Rt ats e

Part il comsisls of nine items. Record the responses lor this subtest on the second
answer sheet .© Marll "a" for a conect response and "b" for an incorrect response.
. For unansweied quesiions, place no maik on the answer sheet. Mark answers
v beginning with row /3 in Section B. *Nole, Part Il consists of 61 items. There-
N fore, rows 62-72 in Section A of the answer sheet are left blank.

5 y "
Risssianrvas et M rall

S 1

. Part IV consists of 104 items. After hand scoring, record the responses on a third
3 answer sheei . Maik "a" for corrcct, "b" for incorrect and leave blank for unan-

swered questions.

-9




Time Limits for Tcﬂf

This test is designed 1o be a mastery test. Consequently time limits have been
established which will permit over ninety percent of the students to attempt every
item on the fest. Students should be told that there is no penalty for guessing. It
is better to attempt a difficult item than fo pass it over

Administration in four sittings is recommended.

First Sitting Part |, questions 1-50 50 minutes
Second Sifting Part |, questions 51-102 50 minutes
Third Sitting Part |l 50 minutes
Fourth Sitting Part ili 20 minutes
Fourth Sitting Part IV 11 minutes

Although Part | may be administered in two sittings, completion should be accom-
plished during the same day. This will preclude students checking or diffi cult
items and perhaps changing their answers on the answer sheet.

Directions to Students

The student is expected to read the test and make a response either on the answer
sheet or in the test booklet. No marks should be made in the fest booklets for Parts
| and 1. For Parts 11l and IV the answer is written in the booklet. Unknown mathe-
matical terms or processes should not be explained to students before or during the
test.

Supplies Needed for Testing

1. For Parts | and 1l each student should have two No. 2 pencils, scratch paper,
and test and one answer sheet.

2 For Part 1l students will need a compass and a straight edge, pencils, and one
test.

3. For Part IV students will need pencils and copies of the tests.

Norms

District noims will be made available so that student achievement in different
schools can be compared. Teachers should be more concerned with the item analysis
and cross reference of objectives and test items. A study of fest results for any class
will provide insights concering areas where more instruction is needed both for indi-
viduals and groups of studenis.

~3-
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GRADE SIX
A CROSS REFLRENCLE OF OBJECTIVES FROM THE CLARK COUNTY CURRICULUM
GUIDE AND ITEMS IN THE MATHEMATICS COVERAGE TEST

CODE: "N mcans number strand, 'Nu'" means numeration strand;
"0" means operations strand; "G'" means geometry strand;
and, "M" mcans measurcment strand.

An example: M-4 means objective #4 in the measurement strand.

OBJECTIVE # I'TEM # OBJECTIVE # ITEM #

N-1 1 Nu-16 29

N-2 2 Nu-17 30

N-3 3 Nu-18 31

N-4 4 Nu-19 52

N-6 L Nu=-70 33

N-5 0 Nu-21 34

N-7 7 Nu-22 35

N-8 8 Nu-23 36

N-9 9 Nu-24 37

N-10 10 Nu-25 38

N-11 11 Nu-26 39

N-12 12 Nu-27 40

N-13 13 Nu-28 41

N-14 14 Nu-29 42
Nu-30 43

Nu-1 15 Nu-31 a7

Nu-2 16 Nu-32 NC

Nu- 4 16 Nu-33 45

Nu-3 17 Nu-35 46

Nu->5 18,19 Nu-30 47

Nu-6 20 _ Nu-37 48

Nu-7 2l

Nu - 31 21

Nu-38 7

Nu-9 22

Nu-10 25

Nu-11 24

Nu-12 7%

Nu-13 20

Nu- 14 27

Nu- 34 27

NU‘lS .?-L




SHEE

OBJECTIVE # rrem OBJECTIVE # ITEM f#
0-1§87 49 0-43 90
0-1§7 50 0-45 91
0-2 51 0-44 92
0-4 52 0-46 93
0-5 53 0-47 94
0-6 54,55 0-48 95
0-7 56,57 0-49 06,97/
0-8 58,59 0-50 98-100

1 0-9 00 0-51 101
0-11 61 0-52 101
0-12 02 0-53 102
0-13 03
0-14 Y
O-T5 77T o5
0-10 T
. 0-17 67

0-18 08
0-19 NC
G-20 09
0-21 70
0-22 71 0-3 § 0-10 are the
0-23 72 basic facts.
0-24 73
0-25 T&,75
0-26 70 NC means not covered
0-27 77,78
0-28 NC
0-29 N(
0-30 79

; 0-31 80
0-32 81,82
0-%3 7 783 o
0-31 §4
0-35 Nt
030 84
037 NC
038 NG T
GoZo 0 T8
o-d4c " T 87

] v s R
o042 '"fﬁﬁ“




PART 11

OBJECTIVE # [TeM OBJECTLVE # ITEM f#
G-1 1 M-11 55
G-2 2,3 M-21 56-58
G-3 2,3 M-19 50
G-2 4-7 M-20 60
-3 4-6 M-17 61
G-2 8-15
G-06 To-20
G-4 21 PART I1I
G-5 22
G-8 23-25
G-9 26 G-20 1-3
G-10 NC G-21 4
G-13 NC G-22 5
G-15 27 G-23 6
G-3 28-32 G-24 7
G-16 33 G-25 8
G-17 NC G-26 9
G-18 33
G-19 34

* G-11 35
G-14 30
G-7 37-41
G-12 47
M-1 42
M-2 NC
M-3 43
M-14 14
M-1 45
M-5 40
M-8 47
M-10 48
M-7 A9
M-12 36
M-13 NC
M-14 NC
M-15 50
M-9 51
M-0 TR
M-T8& 77 TNC
M-20 )
M-16 %
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MATHEMATICS CONCEPTS TESTS

Basic Test: Level Six

Answer Key
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MATHEMATICS CONCEPTS TEST

Basic Test: Level Sia

1. Which of the following scts is infinite?

] a) The sct of all fords
3 é::D the set of all counting numbers
5

c) the sct of all 6th grade boys

d) the sct of all two-hcaded dogs

: 2 The cardinal nuiaber of this set is:
(0.0,0.5 A, A

) / J
a) 5 b) 10 @ 7 d) 6

3. Which pair of numcrals come before and after 10,7107

G 10,700, , 16,711

b) 16,700, 16,702
c) 16,712, 156,714
d) 16,700, , 16,720

- e vr————— st i nowm o WS Smmmimes =

4. R = {i:, 9, §, 7, 25, 2, 16, 15}

The subset of odd numbers in sot R 1§

5. Which nomber s a prime number?

a) 2 b) 39 (:) 17 d) 49
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0.

Having a million Jdollars in one bank is the same as having

@ a thou-and adllars in cach of a thousand banks.

b) 2 hundred dollars in cach of a thousand banks,

c) a thousand dollars in each of a hundred banks.

d) a hundred dollars in each of a hundred banks.

Which of the following is a prime factorization of 367
® :x

Which sct of numerals is arranged from greatest to least?

2}

c) 4 x9

a0, 1006}

b) 1600, 1400, 900, 1010, 86{}

@ {zzno, 2165, 2075, 1907, 13:.1}

d) {5, 10, 20, 70, 90}

7.

a) 1 x 36
8.

}l) 0, S,
9.

®@ <

Which sign makes the statement truc? &0 —?5@ 25+ 5

10. What is the ratio of triangles to squares?

VAN

(] L]

HENEN

a) two to
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11. The rational number *;f; can be renamed as:

a) 6.25
b) 4:25
c) 6 4

C:) both A and C are corrcct

T T e

12. The sct of rational numbers that is arranged in order {rom
greatest to least is:

, ! 7
d){'33) 2 i.) b, ?}

i
L 1+ 23 5¢ 3 7 i
e = P s~ — —-—
b){ 8.) eV J J 6“) 6‘
2 3 L )
@{Z 2,5 %,.33, ¢
di{ =¢ 2 Z 3 AL 1 :
){‘>\)(")f3..)) 4y-) Z/:) a? g
13. The arrow is pointing to which number on the number line?
J &+l R
S e R L it ST S } § — + b —y b—>
a) +2 b) +6 c) -3 -6
14. 47 (pi) 1is
a) exactly equal to-gg‘
(:) approximately cqual to-%?
c) exactly ecqual to 3.14 ?
?

d) is a whole numborv

15. Which of the following is nct a name for 87

a) 320 O ¢) ?. d) 8.00
t".’.

-11-
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16. One hundred one million, twer ty-nine thousand, scven
hundred three 1s:

C:P 101,029,703

b) 101,729,073

c) 101,029,073

%
¢
[
I
T
¥
f
x
.
!
i
‘
k!
|
|
f:
H
b
i
N
i

d) 101,290,703

17. 736,895,990,042,108 could be written as:

a) seven hundred thirty-six million, eight hundred ninty-
five trillion, nine hundred ninty million, forty-two
thousand, one hundred eight

B
» . b
.

-3 b) seven hundred billion, thirty-six million, eight
‘. hundred ninty-five thousand, nine hundred ninty-onc
. hundred cight.

. (:) scven hundred thivty-sisx trillion, eight hundred ninty-
five billion, nine hundred ninty million, forty-two
thousand, onc hundred cight.

d) scven hundred thirty-six trillion, ecight hundred ninty-five
‘. million, nine hundred ninty thousand, forty-two hundred,
g one hundred eight.

18. In the numeral 7 8 5 , 93 2,764 ,891,30 4.

Peciod 5 Pevicd 4 Negted 3 Fhvted 20 ericd !
Period 4 tells the number of:

a) trillions b) millions <:) billions d) hundreds

19. In the numeral 785,032,704,801,504, which digit 1s 1In
one hillions place?

o s s 4 o e b A s s % v
' ot

7\

- a) 7 b) 1 (9 ? d

20. The numeral 175 2A8 written in cananded notation 1s:
» 1

[y |

a) (4x100,000) + (7x10,000) + (3x100,000) + (2x100) +
(4 x 10) + (5 x 1)

(;) (4x100,000)+(7x10,000) +(3:x1000) 4 (2x3100)+ (4x10)+(5x1)
) (4x100,000)+(70x1000)+ (300x100)+(2x100)+ (4x10)+(5x1)
d) (4x10,000)+(7x1,000)+(3x1,000)+(2x10)+ (1 x1)+(5)

-12-




21. The expanded numeral for 81,437 written in exponcntial
notation is:

o @ (8 x 10°)+(1 x 107)+(4 x 10)+(3 x 10')+(7 x 10°)
N b) (8 x 107)+(1 x 107)+(4 x 10')+(5 x 10°)+(7) .
g ¢) (8 x 10%)¢(1 x 10%)+(4 x 10°)+(3 x 10°)+(7 x 10")

d) (80 x 10°)+(10 x 10%)+4(400)+(30)+(7)

b 22. The¢ numeral 965 written as a Roman numeral is:

a) MCLV (:) CMLXV c) CMLV d) CMXLV
- 3 23. The Roman nuncral MCCXLV is written in Arabic numerals as:
L f a) 12,450 b) 1,425 cc) 1,245 d) 10,245

24. Giver a Roman numeral XXX and a base ten numeral 333,

- waich ia trnew
@ XAN - 10 4 10 + 10
b) 333 = 3+ 5 + 3

c¢) Lach "X" has a different value depending on its
place in the numeral,

d) The two numerals name the same number
8

25. The Roman numeral CDLX mcans:

a) (500 + 100) - (50 + 10)
b) (500  100) + (50 - 10)
¢c) (H00 + 100) 4+ (50 10)
@ (500 100) (L0« 10)

-13-
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26. The base five numeral for the fellowing set of dots 1s:

. . . R . e P v
. . ¢ ¢ . ’ s °
P ? ] ’ ¢ ¢ ¢ 4
¢ s : ) e ’ ’ :
¢ e e ) . ¢ d
, 2 25 ..
a) 38fivc b) 3Zlfive <:> 1“3five d) > five
27. Which of the following doecs not mean the same aSIOHOtwo? %
@(]x22)+(0x8)+(1x4)+(0x2)+(1x1)
B (1 x16) + (0 x 8) + (1 xd4) + (1 x 2) + (0 x 1)
) (Ix2 + (0x2%)+ (1 x2%) + (1 x2)+(0x 2%
d) Zétcn

28. The subsct of shaded dots in this set can be represented by
what rational number?

0 O O
0] o O :
/ ;
@ a2 b) = ) 7 4 2
26¢. In the fraction 53’ the 7 is:
a) the divisor
b) the denominator
/c) the nusciator
d) the addend
30.Given the fraction £ | two equivalent fractions are:
a) 5. 9 ¢ 2l c) &£ 5 d) _’f!{) 0.
g ' ;0 7 2y 37 ¢ 16 QY




11n’ e g 0 -

. /& . . :
31. The fraction =75 ronamed to its simplest form is:

a) by = o L @ 2
b} / /Zl 5’
/)
32. Find the missing numerator of i - =2t

g 27 45
a) 36 b) 8 @ 12 d) 16

33. Which sct of the following fractions are all equivalent?

6, 1o, 3l
Qs 2 ’

b){2, 5 £

& 2 1
N, & 32
27 &5
a2 2
d){"}."f" z,} :

34. Which numerual docs not vepresent the shaded portion of this
model?

N

s LT 4.7 i L < 4 S
E,:/jh:-". //_1 ‘.-".’l Yl /.:i
Pl it ol JulR By S |

a A b) one and threc- fourths A ) I 7
) 7, ) ¢ e 73 ) 4.

. . . 5 - .
35. The improper Fructncnmf%f ~onamed as a mixed numeral i1s:

4y 2 3 é 4
a) 3.99 b) 43 c) 3% @37

14
36. The mixed number 7):2 changed into a decimal numeral 1is:
a) 7.014 @ 7.14 ¢) 7.104 d) .714

37. The numeral 23.74 written in expanded notation is:
2) 20 + 3+ 70 + 4
@(2.\10) + (3 x 1) + (7 x,"la‘) + (4 X72l’7.?)
€) (2 x 1)+ (3 ;0 )+ (7 x,r;f;b) + (4 X,’c‘fzrgi)

d) (2 x 3) + (7 x 4)

-15-
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38. Another aame for two thousand, four hundred seventy-nine
and six thousand, threcec hundred five ten thousandths is:

@ 2,479 305

b) 2,479,630.5

Rt A

;7 c) 24,796,305

- d) 24,796.305
¢ g 39. The numcral . 1785 can be written in expanded notation as:
. 3 a) (1 x 100%) + (7 < 10%) + (8 x 10%) + (5 x 10')

b) (1 x 1000) + (7 x 100) + (8 x 10) + (5 x 1)
= c) 1000 + 700 + 80 + §

Ly I S, 5
@ 10 +/&0 / cee 1 1600

R Mt oyt s p i 424

3 '; 40. Which of the following names is a repeating decimal fraction?
e 3 a) .50 b) .75 c) .33 @ .33...
2 41. Which common fraction is a repeating decimal fraction?
I { 9 ) 3
& .;-s — <= ‘} "\-',"Z
1) ) b) 4 S 3 5
42. Which of the (ollowing is not another name for 4797
a) .47 (;) .047 c) forty-seven percent d) 47

7’00

43. Which aunswer lists the correct order of the types of
numcrals in the following sct?

: o2
{-z‘?j) .L«L,L) 3 3, -?GZ}

(:) comnicn {raction, decimal fraction, mixed humeral, per cent

':ia
b) decimal fraction, mixed numeral, common fraction, percent i
;
¢) wia~d nomeral, decimal fraction, common [raction, percent
d) percent, decimal ract fon, common fraction, mixed nume ral :

16—




44. Another name for "the opposite of 8" is:

(:) negative eight

b) positive cight

c) eight percent

d) eight in basc nine
n Z 45. The numeral 3,0628.767 rounded to the nearest hundredth is:
a) 3,600.00 b) 3,628.76 c) 3,628.8 (E} 3,628.77

46. Another name for 3° is:

c) 3+3 4+ 3+ 3+ 3
d) s3

47. Which of the following statements is incorrect?

g),23 = 2x3

: b) 32 = 3 x 3 ]
c) 5% = 125

48. Writtcen in scientific notation 93,000,000 is:

C) 9.3 x 107

b) 93 x 1,000,000

¢) 9.3 x jo8

d) 913 x 10°

~17~-




50.

51.

52.

53.

54.

55.

Hul

0,034 = 0,000,

001,

then =

a) 6,053,907 Cz) 5,953,067 c) 6,043,935 d) 4,959,067

1f [ ]- 2456 = 3798, then
a) 1342 c::) 6254
8076

-138{_ answor
a) 13384 b) 8076
-6692 x6692

c) 5144 d) 5254

Which of the problems below is a check of the
to this problem?

c) 8076
+6692

Which arrangement seems easiest for adding these numbers?

a) (17 + 9) + (3 + 1)
(E), (17 + 3) + (9 + 1)
c) (3 + 9) + (17 + 1)

d) (1 + 3) + (9 + 17)

To make

a) any number

638,245,079
+ 25,346,942

(;2 663,592,021

612,898,137
c) 653,581,911
d) 653,592,121

000 389 100
o 7 NS ’-." . ’ T N2y
- ‘:)', }’:.’)()», 0wy

a) 909,619,499

901,159,301

(:) 891,159,301

801,159,311

this statement truc,

b) 1 only

-18-
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56. 56 (:) 8 = 64 What symbol placed in the circle would
make this statcment true?

Z%< ; (::> + b) — c) x d) =

57. 1832 (:) 1802 = 30 What symbol placed in the circle
would make this statement truc?

a) + @-— c) x d) —

58. x 64 = 25,088 What opcration would you usc to
corrcctly solve this problem?

‘. a) + by — c) X @‘E‘

*

i3 59. Which cquation has the same solution as 240 -+ 48 =

a) 240 - 48 =

b) 240 + 48 =

(;} 48 x = 240

d) 48 £ 240 =

Py ee—

60. Which of the items below should be used to check the

answer to this problem? 675 r 13
14 [9463

a) 9463 b) 675 c) 675 (:) 675

x 14 x13 x14 = x14
E 37852 2025 _ 2700 2700
E 9163 675 675 675
f ] 132482 8775 9403 9450
+ 14 ‘ + 13

8789 . 9463

61. Which arrangement scems casiest for multiplying thesc
numbers?

a) (4 x 359) x 25
@ (4 x 25) x 359
C (359 x 4) < 25

d) (359 x 25) x 4

-19-




62. 218

Khich of the

x300 the answer to this problem?
1508
65400
66708

306 b) 306 c) 65,400

-x218 -218 + 306

items below could

63. To make this statement true, 1523+

E_] can be

a) any number

d) zero only

64. If 7320 x O ='::; , then =
b) 73,200 (ﬂ€> 0

65.  Which problem cannot be solved?

a) 7320

a) 0+ 4 =
b) 4 &+ 4 =

(D 4+0-=

d)y 1 +1-~=

66. 53 x 621 =
a) (5 x 624) + (3 x 624)
‘b) (5 x 624) + (30 x 624)
C:) (50 x 621) + (3 x 624)
d) (53 x 60) + (53 x 24)

~20-

be used to check

d) 66,708
- 64,400

1523 X

d) 10
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68.

69.

/0.

/1.

72,

73.

(:) 2,501,878 D) 9,359 c) 2,579,268 d) 145,168
45143743
a) 98 rl b) 817 r9  c) 9 r324 (@) 97 r9

: e
to
~1

) i<
;.’ﬁ
s C Al

What symbol placed in the (:) makes this statement true?

1212 () 4 = 303
b) - c) X @ -
Find the average of these numbers: 5§56, 61, 57, 58

@ 53

a) +

a) 290 c) 29 d) 57

Which number names the greatest common factor of this sct
of numbers? {3, 12, 18, 24}

a) 6 CES>3

Which number names the least common multiple of this
set of numbers? {5, 12, 24}
@ 2

c) 72 d) 24

a) 12 b) 8 c) 48

In this equation the "3" is:

3
57 = 125

a) the base

C:) the exponent

¢) a factor

d) the product

-21-
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74. Tuis model shows: Q\\i\\\\s\\\ s k\\}:_ —
NN

75. This number line model shows which equation?

| 2 o
3 & E
3 3 3 El
2 5
4 76. Which equation has the same solution as RO T - %
‘ a) &3 ® = c) d)
i z‘ (9 5.
+ T ES ] -y .
T a3 5 L=
R 3 3 z‘:‘ 3
7. & - 2 is true for is equal to:
: - -~ + 3
- 3 3 ~
f (:} any number
3 b) 1 only
‘ﬁ c) C only
K

d) ncver truc




82.

83.

o o - g 7 T & b o

' L U‘ 4 - § ‘(L.!f i) is true for [] i oqual to

(:} any wusber |
b) 1 onlrs |
c) 0 only

d) never trus

in the lowcst terms?

4
d)17

Tt g Which nuzxes the unswer

wg @®i1F o

4

s )
, A

. 0690

$14.15 — $6

a) $14.07.

Tl 3 . - . pree swe e D e g i3 s e qerne oo mmeegvg
Ihis model shows: CT TR A%
- - > L3
. A."' b‘ ‘\»\\‘
. :*- ; A o\\‘\
Y
l - . \'_ .) “ "\
-4 e S e R " e “ —omnv e
AN AT RPN B
- . hd Py e
= . ‘
L‘o - o e " " . -
b °. . el - . -
~ PR oot . \
M - - .
e p:.-o e e T e -
1+ . .. -
.- ,.." - ]
. s
b * 7
. - - .
Sl NN T

, . PR l) r
. ; .
a) &4 .0 ) S ,
- - ~ ~ . N O
i 4 .
. ¢ s 4 3 . J 70,
’




e s W M e L., PR O PR

v VP , . : P A
H1. Wate b et ton b the e solution as l }
/4 ‘ 7 N

I ’

: ) a2
85. If = X T s s then ]

NN
U\:ifd
{
LA XY
(J‘l W S
Y
[
1~

:-’ M 9
- )
2 .00 -
c) e Tl
‘f; . PAS)

—

86.  Since L is another name for 1, we can say that 3

P . - 3

A | I 5 : : 'y
Sx:t Loy 5 s equivcalent to 732
N/ P é : /)

(:2 truc ' b) false

87. 7, [Tl 4 =

a) 3 b) =% o c) Bers (::» é;
‘j, ’7‘ . ~ PN

. Zx[ =1 [+

b) 1 ¢) any number Jd)

-~
(;- } ’
"

b4

\

' .
LS XIN %Y

.Y . :J o
8o. .o 7 =0L] " [] ,
ca) | (I)»acma <) any numbev  J) 2

“?
DA

90.- wivich numoral dowes not nawe a0 o unigue rational nuamber?

7 , 4y by F | 7 3 |




¥ x
/5 1

e

91.

The best shor
ll
) A
a) 22 ox o
‘,f, I;AK
e

92.

b) (. x 5)

'@..(a X &)
" . ' .
Je D2 X 2? =
&
a) =
]
., 3 ., 7
94. gﬁ:m~§-::
a) 48
P
/ !
950 by - hopnd
bz = 3%

a) $1669.88

25 [43775
C:) 1.75

" 98. 255

97.

of 100
a) 4904

ok s P vt w0 % o - - PR

et Lo owerking this probiom isc
2 ’ oy ..’. -
- LA
by N == A S
iy ":' T N aq'
/19 ~%7 o
[ 5 /

iz ancether wiy ol writing this problem?

x WYi(5.L5)

It

(g]
\-—"
A
'
S

i~

©) $1709.88

c) 17.58

c) 6.4 .

;L
S5
LoV

X3

G\

LYRIN

d)

d) $§176.998

d) 195

d) 64%
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100.

101.

102.

¢
3
}
3

P - Mo - o®
er———— |
o

1 is what per centoel bof
a) .1ih b) 8 @ 25 d) 125
346 is 50% of what number?
a) 173 b) 6.92 @692 d) .693
This number linc medel demonstrates
« S —— =
e e 2 O » B it i e S o . & > 4 >
-7 -t -5 -4 ~3 -3 7 o | 2 3 4 S5 e 7
@'6 + "B = "2
b)) T8+76 = T14
) "2+ 6 = 4
dy 6 —2 =4
2 - 75 =l l This problem has the same solution as:
by [J+3=2
c) "2+ 73 =
d "2 x3-~=
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Part 11

1. A(n) is the set of points in a simple

——— = et

closcd curve composcd of the union of five line segments,

a) rectangle (:) pentagon c¢) hexagon d) octogon ;

Which of the set descriptions below match the figure to

2.
the right?
a) AB U BC U TA - D _ A _
b) BA U EC :
c) AB , *
) A —%4 |

>\
=t

@ T U BC U CD U DA

c) UBCUCH UDE UEF UF

|

—
v

3. Which of the set descriptions below match the figure to
the right? -

a) AB U BC U CA A | B8
b) BA U BY |

@ =

d) AB U BC UCDh U DA

¢) AB U BC UCD UTDE UTELE U TA

4. Which of the scet descriptions below match the figure to
the right?

@ Al U EC U CA ¢

b) BA U BC

c) AE

d) AB U EC U CD U DA A B
e) AR U BC UCD UDE U EF U FA

-27-
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5. .Which of the set descriptions below match the figure to
the right?

a) AB U BC U CA
(:) 8 U BC
c) AB b

— ——r P o——

d) AB U BC u CD U DA

] e) ABUBCUCDUDEU EF U FA

6. Which of the sct descriptions below match the figure to
the right?

— e = E
a) AB U BC u CaA R

- —
b) BA U BC :

_ F ¢
c) AB < ’
d) AB U BC U Ch U DA

T A A

@ABUBCUCDUDI&UEFUFA

\'i

7.  VWhat is the name of the figure to the right? -

a) path . line ¢c) ray d) line segment L

8. What is the name of the figure to the right? '/\\N,/-//A\

4

<§> path b) line c) ray d) line segment
9. What is the wume of the figurc to the right? >
a) path b) linc (:) ray d) line scgment

10. What is the namc of the figure to the right?

a) path b) line | c) ray <:) line segment

|

[RURSRp e R PSS RREIE E AE e LLLLL —— — S
e e -




11. What is the name of the [igure to the right?
a) angle
b) quadrilateral

@ triangle

d) bentagon

e) circle

12. What is the name of the figure to the right?
a) angle §
b) quadrilgteral
c) triangle

d) pentagon ' *
(:) circle

13. What is the name of the figure to the right?
a) angle
b) quadrilatcral
c) triangle
cg) pentagon
e) circle '

] - 14, What is the name of the figure to the right?

. a) angle

@ quadrilatcral

c) triangle

d) pentagon
c) circle
15. What is the oname of the Cigure to the right?

; (;» angloe b) triangle ¢) pentagon d) circle >

‘f ’ ‘, "29"'




16.  What is thc nawmc of thc spuace figure to the right?
a) pyramid
b) sphere
c) cylinder

(:) cone

e) cube

17. What is the name of the space figure to the right?

- a) pyramid ::::::::

b) sphere

(:) cylinder
d) cone | t::::;::;::;:l

e) cube

18. What is the name of the space figurc to the right?

aj pyramid

b) sphere ‘

¢) cylinder ,| |
d) cone ).. . i
@\ cube l(: 3

Y

19. What is the name of the space figure to the right?
a) pyraMid

@ sphere

c) cylinder

d) - conc ‘

e) cube ' J




20. What is the name of the space figure to the right?
(:) py ramid
b) sphere
c¢) cylinder

d) cone

e) cube

21. The sct of all points in space one inch from a given line

is a(n) , e
; (:) cylinder b) cone c) sphere d) polyhedron
22. A(M) is the set of all points two
“ijnches Trow a given point in space.
a) cylinder b) cone c) planc @ sphere
, 5 ,
23. ; lines are lines in the same planc

- o e —— s r—— o —"

fﬁﬁffﬁEVEF mect.

a) perpendii:u!'ar b) parallel @ intersecting

24. Two intersecting lines have o point(s) in common.’

(::) exactly one c) more than onc

!
:
!
%
a) no %
i

p—

’ ; N i - i ‘e * - - . -
25. Perpendicular lines are intersecting lines which form =

. a) acute angles b) obtusc angles (:> right angles

- '
] ’

26. The . ’ of apolygon is cqual to the sum of

r- wh S w0 S S Semmn e &

jts sides.

a) arved b) volume @p'crimctor d) diagonal

27. Congruecnt geometric [igures have the same

1 ~ : a) size only

b) shape only A ‘

@ shape and size

PR

PR

e e 3 et v e o, e A




28. In the circle above, point 0 is called the

a) radius b) diameter <¢) chord cgl center e) arc

.29. ‘In the circle above, ZQ is called a(n) . .

a) radius b) diameter (:) chord d) center e) arc

—

30. In ‘the circle above, BP is called a(n) - e

a) radius b)center c) diagonal @di»ameter e) arc

31. In the circle above, OE is called a(n) S '.

(E) radius b) chord c¢) diameter d) arc e) center

32. In the circle above, ZQ is called a(n) _ .
a) radius bh) chord ¢) diameter d) center c:> arc

B ~ H

A,‘A . '(L F ““E‘G |
1f A ABC == /\FGH, which of the following is NOT true?
— P e . ‘ .
a) AC=FG

b) Z. ABCS /. 1uc

@ / 0T/
O R iR

c= G

-32-
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©

7 “

- a) A= ¥ xb x a

-34.. Which linp is a linc of symmetry?

c) both a and b

" b) A=bx.-c
(:) A'%Vb,x'u C
" d) A=a f b+ e e

~"*35." The formula for finding the areca of any parallelogram is

36. The volume of the right rectangular prism shown is

a)’~9015quare inches
_‘. 54 cubic inche-s
€) 12 cubic inches

" .d) 48 cubic inches

37. In the pyramid to tlw‘right, []ABCD is

a) a vertex

b) an adge

—'Cc-)) the basc

d) a latcral surface

e) the altitude

-33~
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38. In the pyramid above, EB is

a)

®

c)
d)

. €)

39. In

o

'b)
'C)
d)

“ 40. In

oy

41: In

y)

the pyramid above, /\BEC is

- e e s o e AR b, b Yy ok s e & xS N B

T a e dhd

a vertex
an edgce -
the base
a laterél surface

the altitude

the pyramid above, C is

a vertex ..

an cdge

the base
a lateral surface

the altitude

) a vertex

an edge

- the basc

a lateral surface

the altitude

the pyramid above, h is

- weave v msew W

4 vertex b)) an edee ) the hase

-34-
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42. An angle can be measurcd by using a _ L .

a) straightcedge b) compass (:) protractor d) yardstick

43. A field is 128.246 fect long. Correct to the ncarest
tenth of a foot, this is .

| a) 130 feet b) 128 feet <) 128.25 feet(d) 128.2 fect

44. If the mcasure of AB is given as 2% 1ncﬁcs, correct to
thc nearcst half inch, we know it is “ o

@ ‘between 2% 1nches and 2 ‘,,; jnches,
'b) . 1less than 2% inches.’ , , o | V‘ -
c) mbre_thanfz&‘inches; | -

d) ‘bctween 2% in. and 3 inches.

~45. The u01ght of a human being is best cxrrcssed in what
© - type of unlts? .

a) carats pOunds , c) ounc.esi‘t dn),.hun"dredwe'ight‘

46. To the nearest centlmeter, what is the’ length of the
pcnc11 shown below’ .

| B o N S S N B L N R AL N M
2 3 % _5. e 7 & 97 0 1 I 3. 14 -}
| "a)f @ 9 c:)‘ 0 4 8.4‘ |

a7, If the arca of [77 ABCD is 60 squarc 1mhc~., wlmt is
* . the arca of Al\lil)? )

)
s i

) 20 sS4 . in.

(I:D 30 sq. in.

c) 60 s¢. in.

~.d) 15 sq. in.

Jeric

PAFullToxt Provided by ERIC
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UV

bt st o - s b A o A S A

area =7'x r2 ;

circumference =7x d

(Use %ll-for 7)) i

48. The area of the circle above is

a) 44 inches b) 22 square in. c) 44 sq. in,<:> 154 sq. in.

49. The circumference of the circle above is
@ 44 in. b) 22 in. c) 44 sq. in. d) 154 sq. in.
50. If a football gam¢ begins on live television at 1:00P.M. %
in New York City, at what time should you turn on your ‘
"set in Las Vegas to sec the kickoff? ]

a) 4:00 P.M. b) 4:00 A.M.(E) 10:00 A.N. d) 10:00 P.M. -

'51. Find thce area of the figure to the right.

a) 74 squarc inches

b) 74 inches ) ‘ ¢ 1
@ 312 square inches 13in |

d) 312 inches Qi in,

52, Find the perimeter of the figurc to the right.

a) 74 square inches

(::) 74 inches ..
, ‘ .

c) 312 squarc inches /73in

N
.

d) 312 inches R2Y in,

53. In cemparing the length of the meter with the length
of the yard, wc say that a mcter is a yard.

e cr—

a) the same as b)) less than @ greater than  d) equal to

-34-
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»—30
25°-
. X ‘ _40°
54. This theormonecter shows shout |
= /()
o
5’t "

C—
R

a) 12° @15" c) 10° d) 32° :
55. Find the surface area of the figure at the right. é

a) 20 cubic centimeters

b) 96 cubic centimeters

)

@ 160 square centimcters

A ;

squUaAre imcter
d) 20 square centimecters 4 e

56. 5 yds.1 ft.-3 in,
+3 yds. 2 ft. 3 in,

a) 9 yd 3 £ft. 6 in,

(;) 9 yd. 6 in.

c) 9 yd. 1 ft. 12 in;
d) 8 yd. 1 ft,

6 1b. 4 o:z..
-3 1b. 10 o-=.

'8) 3 1b. 10 oz.
b) 3 1b. 5 oz.

(:) 2 1b. 10 oz.

d) 9 oz. 14 oz.

Y

N e = e e e N e
wn
~3

- . .

L~

PAFullToxt Provided by ERIC
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39.

60.

61.

An airplanc [lies at an average speed of 720 miles per
hour. How many miles per minute is this?

@ 12 b) 7.2 c) 8,640 d) 720
¢® =Ex (F°— 32°) < Uao Ahis formmile,
A temperature of 59° Fahrenheit is _ centigrade,
a) about 50 b) 48 e 15 d) below zero
The diagram below shows a protractor that is placed on

an angle. How many degrees does the angle measure?

1os b) 70 c) 75 d) 110
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Part |11

Directions: You are to make several geometric constructions
on this page and on the next two pages. You should use
only a straight edge, pencil and in some cases, a compass.
Do Not erase the marks that you make on the paper as you
do the constructing. These marks show whether or not you
did the construction correctly.

1. Conistruct a line segment in the box that is congruent
A
S S 8
| : |
. /'

LN TR A A VI P TR C REA N

2. Construct an angle in the box that is congruent to ZABC.

3. Construct a trianEIe in the box that is congruent to
en la

ABC and th el the points A, B and C on on your triangle. '
(;(A'! :‘ '4/" {A & +/: e o /f'.'f'.-"/}ﬂd{.&?- b P . 2
, ) PR ) . . ?‘ \ Y, R :+i /‘(:“ .
) 42 ) - ) , ) Qe €. ALt 1 . -
PR N PR

(




> o~ ———ND Pr—

s

Aol derriae

, A
T

6. Construct a perpendicular to the line below from point A

4. Bisect the angle below.

5. Construct the perpendicular bisector of the line segment
below. -

|

Yt el oy

E




1
i

7'

8.

< . -
ele; Belsw G anclhon, methnd Gk i ;
Ad- : ‘

9.

Construct a perpendicular to the line below that passes
through point P.

Construct a line paraliel to the line bélow that pasées
through point 2. , -
(hrg e cage L ) :
3 o ¢ v k"*ﬂdz O Niand

W A ,uw../-f.'«, &
L Z |
e, Q, \ e . S

\\
bl \
: >

.
F t“ AN

Using ©nly a compass, construct a circle below that
has its center at C and a radius congruent to the one
shown at the left..

radius
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Part IV \ time limit: 3 minutes
ADDITION AND SUBTRACTION TEST .
. g ;
(1 9 2) g 3 - 7 (4 g (5). Q 6) 4 ;
Y A +0o +5 - 4 4

\ S \3 \3 '3 | 2 |

03) fg 43 8 g7 08,5 070 (8 .

' A ‘ <

s s s 9 9 73

L) gy @3 @) gy @)y @) 0 3
=4 -4 =z -5 =2 =¢
9 3 "9 9 1




Time limit: 4 minutes

MULTIPLICATION TEST
(25) 5 ()9 @)g 8 7 4 (0) § ©B1) 7@ O
x5 x4 x6 xo_ x§ x9 x4 x6

2 3¢ 48 o 32 sy 28 o

33 & @G 657 @) F@) 338 2 3) 8w 7
XY X6 X7 X9 X7 X2 XY XZ
R 3t 49 ys a1 ¢ 271 |

W oy Wy W3z W g

X3 X§ X2 __i.
12 4 6 16 20

u) & 607 6N 3 6D g 63 7 54 o

R7 X5 X% x.:’. U .29_
Se 3¢ 9 9.'4

(57)‘ ? (58)5 (59)g (60)6 (61) ‘7, (62)3 6 b I

X9 x7 x¥ x3 x4 X5 X4 X6
g1 25 69 1§ It /s 4 sy




Time linit: 4 mxnutes

DIVISION TEST

P @,3@—7 e ,,ré W) r—} = erﬁ
l' | ‘*-’7% " 42y *’5’ 4175 " ?B’f
| L I I R

RN
2~ ,‘°"’7 = 0 e o 3[/';% I
b el 0 oad ok
S A <y

(loi)s,é (102) 35’[77_ (103) ‘H-Sg (104) 6[3275

\
0
ok

A - G - G o e
2}
| Q

s
%_C

i (@~

B 58

s P

1
-
[
|
|
|

4

i+

i
Ara

|




